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MATRICES

Multiple Choice Questions

1. Matrix theory was introduced by

A. Euclid

B. Chauchy

C. Newton

D. Caykey-Hailton

Answer: D

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nbq7FrmS6FYU


Watch Video Solution

2. A square matrix  in which  for  and 

(constant) for  is called a

A. unit matrix

B. null matrix

C. scalar matrix

D. diagonal matrix

Answer: C

Watch Video Solution

A = [aij] aij = 0 i ≠ j [a]ij = k

i = j

3. Choose the correct answer

A. Every identity matrix is scalar matrix

B. Every scalar matrix is and identity matrix

https://dl.doubtnut.com/l/_nbq7FrmS6FYU
https://dl.doubtnut.com/l/_MstCOcUnbphq
https://dl.doubtnut.com/l/_TxeMcrPer5xf


C. Every diagonal matrix is an identity matrix

D. A square matrix whose each element is 1 is an identity matrix

Answer: A

Watch Video Solution

4. Square matrix  will be an upper triangular matrix, if

A. , for 

B. , for 

C. , for 

D. , for 

Answer: B

Watch Video Solution

[aij]n×m

aij = 0 i < j

aij = 0 i > j

aij = !0 i < j

aij = !0 i > j

https://dl.doubtnut.com/l/_TxeMcrPer5xf
https://dl.doubtnut.com/l/_rb6H1YtJweod


5. In a upper triangular matrix  minimum number of zeros is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

n × n,

n(n + 1)

2

n(n − 1)

2

n(2n − 1)

2

n(n − 1)

4

6. In a skew-symmetrix matrix, the diagonal elements are all

A. one

B. zero

C. different from each other

D. non-zero

https://dl.doubtnut.com/l/_uDOBQpdMIh81
https://dl.doubtnut.com/l/_7W4trQJGofzp


Answer: B

Watch Video Solution

7. If A is a square matrix for which , then matrix A is

A. unit

B. zero

C. symmetric

D. skew-symmetric

Answer: D

Watch Video Solution

aij = i2 − j2

8. Which of the following is not true?

A. Adjoint of a diagonal matrix is diagonal

https://dl.doubtnut.com/l/_7W4trQJGofzp
https://dl.doubtnut.com/l/_jo25b6MNxRDE
https://dl.doubtnut.com/l/_3frdATxE5k4t


B. Adjoint of symmetric matrix is symmetric

C. If determinant of a square matrix is non-zero, then it is non-singular

D. Every skew-symmetric matrix of odd order is non-singular

Answer: D

Watch Video Solution

9. Which one of the following is correct?

A. Skew-symmetric matrix of odd order is singular

B. Skew-symmetric matrix of odd order is non-singular

C. Skew-symmetric matrix of even order is always singular

D. Adjoint of diagonal matrix is a non-diagonal matrix

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_3frdATxE5k4t
https://dl.doubtnut.com/l/_RrwM7jKxtggh
https://dl.doubtnut.com/l/_SVFwTrPRTeo7


10. If A is square matrix,  is symmetric matrix, then =

A. zero matrix

B. unit matrix

C. symmetric matrix

D. skew-symmetric matric

Answer: D

Watch Video Solution

A + AT A − AT

11. If  is a skew-symmetric matrix and n is a positive integer, then  is

A. diagonal matrix

B. a symmetric matrix

C. skew-symmetric matrix

D. either symmetric or skew-symmetric matrix

AT An

https://dl.doubtnut.com/l/_SVFwTrPRTeo7
https://dl.doubtnut.com/l/_SosXMdhjfoNd


Answer: D

Watch Video Solution

12. If I is unit matrix of order n, then 3I will be

A. a unit matrix

B. a scalar matrix

C. a triangular matrix

D. a zero matrix

Answer: B

Watch Video Solution

13. If A is a square matrix of order n then 

A. 

|kA| =

K|A|

https://dl.doubtnut.com/l/_SosXMdhjfoNd
https://dl.doubtnut.com/l/_MWnBxj7IHchE
https://dl.doubtnut.com/l/_4Pqvx9RmyO6N


B. 

C. 

D. 

Answer: B

Watch Video Solution

kn|A|

k−n|A|

|A|

14. If A and B are square matrices of same order, then

A. 

B. A+B=B-A

C. 

D. 

Answer: C

Watch Video Solution

A − B = B − A

A + B = B + A

AB = BA

https://dl.doubtnut.com/l/_4Pqvx9RmyO6N
https://dl.doubtnut.com/l/_s9nx1nzok99r
https://dl.doubtnut.com/l/_PpUyk91HwL0M


15. If two matrices A and B are of order  respectively,then

they can be subtracted only if

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p × q and r × s

p = r, q = s

p = q, r = s

p = q

p ≠ r, q ≠ s

16. Matrix A is of order , matrix B is of order  such that AB

exists, then

A. 

B. 

C. 

m × n p × q

m = n

p = n

m = q

https://dl.doubtnut.com/l/_PpUyk91HwL0M
https://dl.doubtnut.com/l/_Q7OgBxA6Tact


D. 

Answer: B

Watch Video Solution

p = q

17. If A and B are two matrices such that A+B and AB are both defined,

then

A. A and B are square matrices of same order

B. number of column of A =number of rows of B

C. A and B are two matrices not necessarily of same order

D. A and B are any matrices

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Q7OgBxA6Tact
https://dl.doubtnut.com/l/_vcQJJMpcd3PV


18. If A is a  matrix and B is a matrix such that both AB and BA are

defined, then the order of B is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

m × n

m × m

n × n

m × n

n × m

19. Which one of the following is not true?

A. Matrix addition is associative

B. Matrix addition is commutative

C. Matrix multiplication is associative

D. Matrix multiplication is commutative

https://dl.doubtnut.com/l/_wKCrDKowxAMj
https://dl.doubtnut.com/l/_0iHPvlVovdhT


Answer: D

Watch Video Solution

20. Which is true about matrix multiplication?

A. It is associative

B. It is commutative

C. It is not associative

D. It have inverse

Answer: A

Watch Video Solution

21. The matrix product AB=0, then

A. A = 0 or B = 0

https://dl.doubtnut.com/l/_0iHPvlVovdhT
https://dl.doubtnut.com/l/_tn6bG3LkWyiN
https://dl.doubtnut.com/l/_iJq9faF72ri0


B. 

C. A is null matrix

D. None of these

Answer: D

Watch Video Solution

A = 0, B = 0

22. Assuming that the sums and products given below are defined, which

of the following is not true for matrices

A. 

B. 

C. 

D. AC=AB does not imlpy B=C

Answer: C

Watch Video Solution

(AB)' = B'A'

A + B = B + A

AB = 0 ⇒ A = 0, B = 0

https://dl.doubtnut.com/l/_iJq9faF72ri0
https://dl.doubtnut.com/l/_N8HJulaHYTX1


23. If A, B are square matrices of order 3, A is non-singular and AB=0, then

B is a

A. null matrix

B. unit matrix

C. singular matrix

D. non-singular matrix

Answer: A

Watch Video Solution

24. If A andB are square matrices of order 2, then =

A. 

B. 

C. 

(A + B)2

A2 + 2AB + B2

A2 + 2BA + B2

A2 + AB + BA + B2

https://dl.doubtnut.com/l/_N8HJulaHYTX1
https://dl.doubtnut.com/l/_h5fHUhZW6WGN
https://dl.doubtnut.com/l/_NpUxdW9K3anS


D. 

Answer: C

Watch Video Solution

A2 + B2

25. If A and B are square matrices of order , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

n × n (A − B)2 =

A2 − B2

A2 + 2AB + B2

A2 − 2AB + B2

A2 − AB − BA + B2

26. If A, B are two matrices and , then(A + B)(A − B) = A2 − B2

https://dl.doubtnut.com/l/_NpUxdW9K3anS
https://dl.doubtnut.com/l/_kTbUGIL8EdIs
https://dl.doubtnut.com/l/_RlQ63l88d3CX


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

AB = BA

A'B' = AB

A2 + B2 = A2 − B2

AB ≠ BA

27. Which of the following is incorrect?

A. 

B. 

C. 

D. , where A, B commute

Answer: B

Watch Video Solution

(AT )
T

= A

A2 − B2 = (A + B)(A − B)

(A − I)(I + A) = O ⇒ A2 = I

(AB)n = AnBn

https://dl.doubtnut.com/l/_RlQ63l88d3CX
https://dl.doubtnut.com/l/_27T0EsNFRiO7


28. If  are transpose of the square matrices A, B respectively, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

AT , BT

(AB)T =

ABT

BAT

ATBT

BTAT

29. Which of the following relations is incorrect?

A. 

B. 

C. 

(A' )' = A

(kA' ) = kA'

(AB…I) = A'B' …I'

https://dl.doubtnut.com/l/_27T0EsNFRiO7
https://dl.doubtnut.com/l/_xbYRRItqEkVI
https://dl.doubtnut.com/l/_yIDohEbte2MQ


D. 

Answer: C

Watch Video Solution

(A + B + … + I) = (A' + B' + … + I' )

30. Which one of the following statements is true?

A. If A'=A, then A is a square matrix

B. Determinant of a non-singular matrix is zero

C. Non-singular square matrix does not have a unique inverse

D. If  then , where A is a square matrix of

order n

Answer: A

Watch Video Solution

|A| = !0 |AadjA| = |A|n− 1

https://dl.doubtnut.com/l/_yIDohEbte2MQ
https://dl.doubtnut.com/l/_fQILrZEkZZFe


31. If  and  denote the cofactor of element ,

then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A =
⎡
⎢
⎣

a11 a12 a13

a21 a22 a23

a31 a32 a33

⎤
⎥
⎦

Aij aij

a11A21 + a12A22 + a13A23 =

0

|A|

−|A|

2|A|

32. If  denote the cofactor of element , then 

A. 

B. 

A =
⎡
⎢
⎣

1 1 0

2 1 5

1 2 1

⎤
⎥
⎦

and aij Aij

a11A21 + a21A22 + a13A23 =

1

0

https://dl.doubtnut.com/l/_4UA8tjXmA8kB
https://dl.doubtnut.com/l/_LNt003JbWELy


C. 

D. 

Answer: 

Watch Video Solution

−1

2

A

33. If  denote the cofactor of element ,

then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A =
⎡
⎢
⎣

a11 a12 a13

a21 a22 a23

a31 a32 a33

⎤
⎥
⎦

and aij Aij

a11A11 + a12A12 + a13A13 =

0

|A|

−|A|

2|A|

https://dl.doubtnut.com/l/_LNt003JbWELy
https://dl.doubtnut.com/l/_Vcyp9ED2LsfF


34. If  and  are non-singular square matrices of same order then

 is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A B

adj(AB)

(adjA)(adjB)

(adjB)(adjA)

(adjA− 1)(adjB− 1)

(adjB− 1)(adjA− 1)

35. If A is a non-singular matrix of order n, then 

A. 

B. 

C. 

D. 

A(adjA) =

A

I

|A|In

|A|2
In

https://dl.doubtnut.com/l/_BCVHPBCFKIZP
https://dl.doubtnut.com/l/_A2hJnr8KK9Uq


Answer: C

Watch Video Solution

36. If A is a singular matrix of order n, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A(adjA) =

0

A

I

|A|In

37. If A is a  matrix and , then 

A. 

n × n |A| ≠ 0 adj(adjA) =

|A|n− 1
A

https://dl.doubtnut.com/l/_A2hJnr8KK9Uq
https://dl.doubtnut.com/l/_lIIA4NElXHmb
https://dl.doubtnut.com/l/_tPOEm3Gd2Kxi


B. 

C. 

D. 

Answer: B

Watch Video Solution

|A|n− 2
A

|A|nA

|A|2

38. If A is a singular matrix of order n, then  is

A. symmetric

B. singular

C. non-singular

D. not defined

Answer: B

Watch Video Solution

(adjA)

https://dl.doubtnut.com/l/_tPOEm3Gd2Kxi
https://dl.doubtnut.com/l/_p1VXdPQMjamH
https://dl.doubtnut.com/l/_I33ZCVireq5r


39. If A is a square matrix, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

adj(A' ) − (adjA)' =

I

0

2(adjA)

2(adjA' )

40. If A is a non-singular matrix of order 3,  then 

A. 

B. 

C. 

D. 

(adjA) + A− 1 = 0,

|A| =

0

1

−1

2

https://dl.doubtnut.com/l/_I33ZCVireq5r
https://dl.doubtnut.com/l/_ViuqALHvW5LM


Answer: C

Watch Video Solution

41. If A is a non-singular matrix of order 3, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∣∣adjA
3∣∣ =

|A|9

|A|12

|A|3

|A|6

42. If D is the determinant of a square matrix A of order n, then the

determinant of its adjoint is

https://dl.doubtnut.com/l/_ViuqALHvW5LM
https://dl.doubtnut.com/l/_YDgZtr15hLGY
https://dl.doubtnut.com/l/_sG00ki01TTVi


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

D

Dn− 1

Dn

Dn+ 1

43. Which of the following is/are incorrect? (i).Adjoint of symmetric matrix

is symmetric (ii).Adjoint of unit matrix is a unit matrix (iii).

 (iv). Adjoint of a diagonal matrix is a

diagonal matrix

A. (i)

B. (ii)

C. (iii)

D. (iv)

A(adjA) = (adjA)A = !|A|I

https://dl.doubtnut.com/l/_sG00ki01TTVi
https://dl.doubtnut.com/l/_EguuDF8SWStP


Answer: D

Watch Video Solution

44. The inverse of a matrix  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A = [
a b

c d
]

[
d −b

−c a
]

[
b −a

d −c
]

[
1 0

0 1
]

1

|A|

[
d −b

−c a
]

1

ad − bc

45. If A and B are non-singular matrices, then

A. AB = BA

https://dl.doubtnut.com/l/_EguuDF8SWStP
https://dl.doubtnut.com/l/_zOUzx9I77bgL
https://dl.doubtnut.com/l/_2XeI0pPEsZKX


B. 

C. 

D. 

Answer: C

Watch Video Solution

(AB)' = A'B'

(AB) − 1 = B− 1A− 1

(AB) − 1 = A− 1B− 1

46. If A, B, C are invertible matrices, then =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(ABC) − 1

A− 1B− 1C − 1

C − 1A− 1B− 1

B− 1C − 1A− 1

C − 1B− 1A− 1

https://dl.doubtnut.com/l/_2XeI0pPEsZKX
https://dl.doubtnut.com/l/_ryhv6chv5AlN
https://dl.doubtnut.com/l/_aH9JULx7oqnM


47. If

is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

D = diag(d1, d2, d3, …, dn)  where d ≠ 0  for all I = 1, 2, …, n,  then 

diag[d − 1
1 , d − 1

2 , …. , d − 1
n ]

In

D

−diag[d − 1
1 , d − 1

2 , …. , d − 1
n ]

48. The inverse of a summetric matrix is

A. diagonal matrix

B. skew-symmetric matrix

C. symmetric matrix

https://dl.doubtnut.com/l/_aH9JULx7oqnM
https://dl.doubtnut.com/l/_0b0sXvVRpbmQ


D. not symmetric matrix

Answer: C

Watch Video Solution

49. If  is identity matrix of order 3, then 

A. 

B. 

C. 

D. does not exist

Answer: B

Watch Video Solution

I3 I − 1
3 =

0

I3

3I3

50. The matrix having the same matrix as its inverse

https://dl.doubtnut.com/l/_0b0sXvVRpbmQ
https://dl.doubtnut.com/l/_LeXVPuVONdCC
https://dl.doubtnut.com/l/_HVICqougLgVp


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⎡
⎢
⎣

1 1 1

1 1 1

1 1 1

⎤
⎥
⎦

⎡
⎢
⎣

1 0 1

0 1 0

0 0 1

⎤
⎥
⎦

⎡
⎢
⎣

1 0 0

0 1 0

0 0 1

⎤
⎥
⎦

⎡
⎢
⎣

0 1 0

1 1 1

0 1 0

⎤
⎥
⎦

51. Let A be a square matrix all of whose entries are integers. Then which

one of the following is true?

A. If det A , then  need not exist

B. If det A , then  exists and all entries are integers

C. If det A , then  exist and all its entries are non-integers

= ± 1 A− 1

= ± 1 A− 1

= ± 1 A− 1

https://dl.doubtnut.com/l/_HVICqougLgVp
https://dl.doubtnut.com/l/_jbXnmGn9ffvh


D. If det A , then  exist but all its entries are not

necessarily integers

Answer: B

Watch Video Solution

= ± 1 A− 1

52. If , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A =
⎡
⎢
⎣

2 0 0

0 2 0

0 0 2

⎤
⎥
⎦

A5 =

32A

16A

10A

5A

https://dl.doubtnut.com/l/_jbXnmGn9ffvh
https://dl.doubtnut.com/l/_t7YwTl1LUvu2
https://dl.doubtnut.com/l/_qLyJ29v6Rjng


53. If , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A =
⎡
⎢
⎣

2 0 0

0 2 0

0 0 2

⎤
⎥
⎦

A6 =

6A

12A

16A

32A

54. If A and B are  matrices such that AB=A and BA=B, then

A. 

B. 

C. 

D. 

3 × 3

A2 = A and B2 = B

A2 = A and B2 = !B

A2 = !A and B2 = B

A2 = !A and B2 = !B

https://dl.doubtnut.com/l/_qLyJ29v6Rjng
https://dl.doubtnut.com/l/_jh78L3QVvcKd


Answer: A

Watch Video Solution

55. If A is a square matrix such that  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A2 = A, (I − A)2 + A =

I

A

3A

I − A

56. If A, B, c are three square matrices such that AB=AC implies B=C, then

the matrix is always a/an

https://dl.doubtnut.com/l/_jh78L3QVvcKd
https://dl.doubtnut.com/l/_6OKWMlckeJGF
https://dl.doubtnut.com/l/_9Vxs1505OFZf


A. diagonal matrix

B. orthogonal matrix

C. singular matrix

D. non-singular matrix

Answer: D

View Text Solution

57. If A and B are two n-rowed square matrices such that AB=O and B is

non-singular. Then

A. 

B. 

C. 

D. 

Answer: B

A = I

A = 0

A ≠ 0

A = nI

https://dl.doubtnut.com/l/_9Vxs1505OFZf
https://dl.doubtnut.com/l/_VZUy0Qkf0Dt0


Watch Video Solution

58. The number of 3 3 non-singular matrices, with four entries as 1 and
all

other entries as 0, is
(1) 5
(2) 6 (3) at least 7 (4) less than 4

A. 

B. 

C. less then 4

D. atleast7

Answer: D

Watch Video Solution

6

5

59. 

A. 

B. 

cos θ[
cos θ sin θ

−sin θ cos θ
] + sin θ[

sin θ −cos θ

cos θ sin θ
] =

[
0 0

0 0
]

[
0 1

1 0
]

https://dl.doubtnut.com/l/_VZUy0Qkf0Dt0
https://dl.doubtnut.com/l/_G25CINEgv2aC
https://dl.doubtnut.com/l/_cFxcPErsOkS4


C. 

D. 

Answer: D

Watch Video Solution

[
1 0

0 0
]

[
1 0

0 1
]

60. If  and 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[m, n][
m

n
] = [25] (m, n)

(2, 3)

(3, 4)

(4, 3)

(3, 2)

https://dl.doubtnut.com/l/_cFxcPErsOkS4
https://dl.doubtnut.com/l/_UNSMCzpcPvxj


61. If matrix  then

A. 

B. 

C. 

D.  where  is a non-zero scalar

Answer: B

Watch Video Solution

A = [
1 −1

1 1
]

A' = [
1 1

1 −1
]

A[
1 1

−1 1
] = 2I

A− 1 = [
1 1

−1 1
]

λA = [
λ −λ

1 −1
], λ

62. If  such that 

A. 

B. 

C. 

D. 

A = [
4 −1

−1 k
] A2 − 6A + 7I = 0 and k =

1

3

2

4

https://dl.doubtnut.com/l/_U9G7sjGLtPzg
https://dl.doubtnut.com/l/_8fBuSmy6s6fq


Answer: C

Watch Video Solution

63. Let . The only correct statement aboul the

matrix A is

A. 

B. A is a zero matrix

C.  does not exist

D. A=(-1)I, where I is a unit matrix

Answer: A

Watch Video Solution

A =
⎡
⎢
⎣

0 0 −1

0 −1 0

−1 0 0

⎤
⎥
⎦

A2 = I

A− 1

64. If , then M =
⎡
⎢
⎣

1 1 1

1 1 1

1 1 1

⎤
⎥
⎦

M 50 =

https://dl.doubtnut.com/l/_8fBuSmy6s6fq
https://dl.doubtnut.com/l/_blFVcwAwnnCR
https://dl.doubtnut.com/l/_X1XvpZ9k0zyv


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−1

0

1

349M

65. If , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = [
cosα sinα

−sinα cosα
] A10 =

[
cos 10α −sin 10α

sin 10α cos 10α
]

[
cos 10α sin 10α

−sin 10α cos 10α
]

[
cos 10α sin 10α

−sin 10α −cos 10α
]

[
cos 10α −sin 10α

−sin 10α −cos 10α
]

https://dl.doubtnut.com/l/_X1XvpZ9k0zyv
https://dl.doubtnut.com/l/_QwSKK3hdFFF1


66. If A is a square matrix, then  is

A. unit matrix

B. symmetric matrix

C. non-singular matrix

D. skew-symmetric matrix

Answer: B

Watch Video Solution

A + AT

67. For any square matrix  is a

A. unit matrix

B. diagonal matrix

C. symmetric matrix

A, AAT

https://dl.doubtnut.com/l/_QwSKK3hdFFF1
https://dl.doubtnut.com/l/_yJ34GlrFDCed
https://dl.doubtnut.com/l/_GY1qurzBN0TX


D. skew-symmetrix matrix

Answer: C

Watch Video Solution

68. Let A be a square matrix. Then which of the following is not a

symmetric matrix -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A + A'

A − A'

A'A

AA'

https://dl.doubtnut.com/l/_GY1qurzBN0TX
https://dl.doubtnut.com/l/_zKhr49ZHIvtI


69. If A is a square matrix, A' its transpose, then  is …. Matrix

A. a unit

B. an elementry

C. a symmetric

D. a skew-symmetric

Answer: D

Watch Video Solution

(A − A' )
1

2

70. If A and B are symmetric matrices of same order, then which one of

the following is not true

A. A+B is symmetric

B. A-B is symmetric

C. AB+BA is symmetric

D. AB-BA is symmetric

https://dl.doubtnut.com/l/_8T3onw1rqstC
https://dl.doubtnut.com/l/_dqcGe6rgZk4z


Answer: D

Watch Video Solution

71. If A is a square matrix of order n and , then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

|A| = D, |adjA| = D'

DD' = D2

DD' = Dn

DD' = Dn− 1

DD' = 2Dn

72. If adj 
 is
 
 b. 
 c. 


d. 

B = A, |P | = |Q| = 1, thenadj(Q− 1BP − 1) PQ QAP

PAQ PA1Q

https://dl.doubtnut.com/l/_dqcGe6rgZk4z
https://dl.doubtnut.com/l/_C3VTYdfH2QAY
https://dl.doubtnut.com/l/_RoEcnfQbr2dj


A. PQ

B. QPA

C. PAQ

D. 

Answer: C

Watch Video Solution

PA− 1Q

73. Let A, B and C be  matrices, which one of the following is a

correct statement

A. If , then A=0

B. If AB=AC, then B=C

C. If , then A is invertible

D. If AB=AC, then B=C

Answer: C

n × n

A2 = 0

A3 + 2A2 + 3A + 5I = 0

https://dl.doubtnut.com/l/_RoEcnfQbr2dj
https://dl.doubtnut.com/l/_Vr2Y2pV4pjX5


View Text Solution

74. If , then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A =
⎡
⎢
⎣

0 1 −2

−1 0 5

2 −5 0

⎤
⎥
⎦

A' = − A

A' = A

A' = 2A

A' = − 2A

75. If , then  on A gives

A. 

B. 

A = [
1 0

−1 3
] R1 ↔ R2

[
−1 3

1 0
]

[
1 −1

0 3
]

https://dl.doubtnut.com/l/_Vr2Y2pV4pjX5
https://dl.doubtnut.com/l/_LbRmj4nyqOyA
https://dl.doubtnut.com/l/_orX6nRmhx3UQ


C. 

D. 

Answer: A

Watch Video Solution

[
0 1

3 −1
]

[
3 0

1 1
]

76. If , then  on A gives

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = [
3 1

4 5
] R1 ↔ R2

[
3 4

1 5
]

[
4 5

3 1
]

[
1 3

5 4
]

[
5 −1

−4 3
]

https://dl.doubtnut.com/l/_orX6nRmhx3UQ
https://dl.doubtnut.com/l/_yAtThWQ29bZF


77. If , then  on A gives

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = [
5 4

1 3
] C1 ↔ C2

[
5 1

4 3
]

[
1 3

5 4
]

[
4 5

3 1
]

[
3 −4

−1 5
]

78. If , then  on A gives

A. 

B. 

C. 

D. 

A = [
1 0 2

2 4 5
] 3R1

[
1 0 −6

2 4 −15
]

[
3 0 6

2 4 5
]

[
−1 0 −2

6 12 15
]

[
−3 0 −6

2 4 5
]

https://dl.doubtnut.com/l/_H3dQP6A9tbvG
https://dl.doubtnut.com/l/_inrZtZpIu5Wm


Answer: B

Watch Video Solution

79. If , then  on A gives

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A = [
1 2 −1

0 1 3
] 2C2

[
1 4 −1

0 2 3
]

[
1 2 −1

0 2 6
]

[
1 −4 −1

0 −2 3
]

[
1 2 −1

0 −2 −6
]

80. If , then the addition of

matrices obtained by  on A and  on B gives.

A = [
1 0 2

2 4 5
] and B = [

1 2 −1

0 1 3
]

−3R1 2C2

https://dl.doubtnut.com/l/_inrZtZpIu5Wm
https://dl.doubtnut.com/l/_rdV5PpceBfq2
https://dl.doubtnut.com/l/_c6QB7Y38FcJV


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[
−3 0 −6

2 4 5
]

[
−2 4 −7

2 5 4
]

[
2 −1 3

−3 5 4
]

[
1 −1 3

1 6 1
]

81. If , then  on A gives

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = [
1 −1 3

2 3 4
] R1 → R1 − R2

[
3 4 7

2 5 3
]

[
−1 −6 −1

2 5 4
]

[
2 −1 3

−3 5 4
]

[
1 −1 3

1 6 1
]

https://dl.doubtnut.com/l/_c6QB7Y38FcJV
https://dl.doubtnut.com/l/_f73Y8SZHUnhh


82. If , then  on A gives

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = [
1 0 2

2 3 4
] C1 → C1 + C3

[
1 0 2

8 3 4
]

[
5 0 2

11 3 4
]

[
5 0 2

10 3 4
]

[
−3 0 2

−6 3 4
]

83. If , then first  and then 

on A gives

A. 

B. 

A = [
1 2 −1

3 −2 5
] R1 ↔ R2 C1 → C1 + 2C3

[
−1 2 −1

13 −2 5
]

[
3 −2 5

1 2 −1
]

https://dl.doubtnut.com/l/_f73Y8SZHUnhh
https://dl.doubtnut.com/l/_OE5ksgQQ4Ken
https://dl.doubtnut.com/l/_60BsToRk6vxD


C. 

D. 

Answer: D

Watch Video Solution

[
−1 2 −1

13 −2 5
]

[
13 −2 5

−1 2 −1
]

84. If , then first  and then  on

A gives

A. 

B. 

C. 

D. 

Answer: A

A = =
⎡
⎢
⎣

1 −1 3

2 1 0

3 3 1

⎤
⎥
⎦

3R3 C3 → C3 + 2C2

⎡
⎢
⎣

1 −1 1

2 1 2

9 9 21

⎤
⎥
⎦

⎡
⎢
⎣

1 −1 3

2 1 0

9 9 3

⎤
⎥
⎦

⎡
⎢
⎣

1 −1 1

2 1 2

3 3 7

⎤
⎥
⎦

⎡
⎢
⎣

1 −1 6

2 1 3

3 3 12

⎤
⎥
⎦

https://dl.doubtnut.com/l/_60BsToRk6vxD
https://dl.doubtnut.com/l/_lQkMPhSIw7Wt


Watch Video Solution

85. The co-factor of -4 and 9 in  are respectively.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

−1 −2 3

−4 −5 −6

−7 8 9

⎤
⎥
⎦

−42, 3

42, − 3

−42, − 3

42, 3

86. The co-factor of elements of the second row of 

are

A. 

⎡
⎢
⎣

1 2 3

−4 3 6

2 −7 −39

⎤
⎥
⎦

4, 5, 6

https://dl.doubtnut.com/l/_lQkMPhSIw7Wt
https://dl.doubtnut.com/l/_VHrbwzZXG9vd
https://dl.doubtnut.com/l/_ksCABwnvTWQN


B. 

C. 

D. 

Answer: D

Watch Video Solution

−3, 11, − 39

11, 3, − 39

57, − 45, 11

87. If , then co-factor of the elements of second row

are

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

A =
⎡
⎢
⎣

5 6 3

−4 3 2

−4 −7 3

⎤
⎥
⎦

39, − 3, 11

−39, 3, 11

−39, 27, 11

−39, − 3, 11

https://dl.doubtnut.com/l/_ksCABwnvTWQN
https://dl.doubtnut.com/l/_VOXG6wvfMBYn


Watch Video Solution

88. The co-factors of the elements of second row of the 

are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

1 3 −2

4 −5 6

3 5 2

⎤
⎥
⎦

−16, − 8, − 4

−16, 8, 4

16, − 8, 4

−16, 8, − 4

89. The co-factors of the elements of third row of  are

A. 

⎡
⎢
⎣

1 −1 2

3 1 4

1 2 3

⎤
⎥
⎦

−6, 2, 4

https://dl.doubtnut.com/l/_VOXG6wvfMBYn
https://dl.doubtnut.com/l/_WORvWv9I4p1H
https://dl.doubtnut.com/l/_ugxOQXatl56Q


B. 

C. 

D. 

Answer: A

Watch Video Solution

6, − 2, 3

−6, 1, 3

3, 2, − 6

90. The co-factors of the elements of the first column of 

are

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

⎡
⎢
⎣

1 1 −2

2 3 −5

4 −1 −3

⎤
⎥
⎦

14, − 5, 3

−14, 3, − 6

−14, 5, 1

5, − 3, − 2

https://dl.doubtnut.com/l/_ugxOQXatl56Q
https://dl.doubtnut.com/l/_kOVB2c8Ffwpg


Watch Video Solution

91. The co-factors of the elements of third column of  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⎡
⎢
⎣

4 3 1

1 3 2

2 1 5

⎤
⎥
⎦

5, 3, 1

−5, 2, 7

−5, 2, 9

2, 3, 9

92. If , then

A. 

B. 

A =
⎡
⎢
⎣

1 2 3

2 3 2

1 2 2

⎤
⎥
⎦

A12 + A22 + A32 = 0

A13 + A23 + A33 = 1

https://dl.doubtnut.com/l/_kOVB2c8Ffwpg
https://dl.doubtnut.com/l/_UqhX9QjcwzSr
https://dl.doubtnut.com/l/_aFDbpyk1J7wD


C. 

D. 

Answer: C

View Text Solution

A11 + A21 = A32

A11 + A21 = 2A32

93. Matrix of co-factors of the matrix  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[
−1 2

−3 4
]

[
4 2

−3 −1
]

[
4 −2

3 −1
]

[
4 −3

2 −1
]

[
4 3

−2 −2
]

https://dl.doubtnut.com/l/_aFDbpyk1J7wD
https://dl.doubtnut.com/l/_ouZgj1rjnjP0


94. Matrix of co-factors of the matrix  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[
1 2

3 4
]

[
4 −2

−3 1
]

[
4 −3

−2 1
]

[
−4 2

3 −1
]

[
−4 3

2 −1
]

95. Matrix of co-factors of the matrix  is

A. 

B. 

C. 

D. 

[
1 3

4 −1
]

[
−1 −4

−3 1
]

[
1 −4

−3 −1
]

[
1 −4

−3 1
]

[
−1 3

4 1
]

https://dl.doubtnut.com/l/_B8C2pHGYb95H
https://dl.doubtnut.com/l/_hlVuihj6rSRO


Answer: A

Watch Video Solution

96. Matrix of co-factors of the matrix  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

⎡
⎢
⎣

1 −1 2

−2 3 5

−2 0 −1

⎤
⎥
⎦

⎡
⎢
⎣

−3 12 6

1 3 −2

−11 9 1

⎤
⎥
⎦

⎡
⎢
⎣

−3 −12 6

−1 3 −1

−11 −9 1

⎤
⎥
⎦

⎡
⎢
⎣

−3 −1 −11

−12 3 −9

6 2 1

⎤
⎥
⎦

⎡
⎢
⎣

−3 −12 6

−1 3 2

−11 −9 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_hlVuihj6rSRO
https://dl.doubtnut.com/l/_XrXkyqJ2x356


97. Matrix of co-factors of the matrix  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⎡
⎢
⎣

1 0 2

−2 1 3

0 3 −5

⎤
⎥
⎦

⎡
⎢
⎣

−14 −10 6

6 −5 −3

−2 −7 1

⎤
⎥
⎦

⎡
⎢
⎣

−14 −10 −6

−6 5 −3

−2 −7 −1

⎤
⎥
⎦

⎡
⎢
⎣

−14 −10 −6

6 −5 −3

−2 −7 1

⎤
⎥
⎦

⎡
⎢
⎣

−14 −10 −6

6 −5 −1

2 −7 −1

⎤
⎥
⎦

98. If , then

A. A is non-singular

B.  does not exist

A = [
2 1

4 2
]

A− 1

https://dl.doubtnut.com/l/_w9AZRVu2oxia
https://dl.doubtnut.com/l/_we62F6WSCygu


C.  exist

D. 

Answer: B

Watch Video Solution

A− 1

A− 1 = 2A

99. If , then

A. A is invertible

B. A is not invertible

C. A is singular

D. A is zero matrix

Answer: A

Watch Video Solution

A = [
1 0

0 1
]

https://dl.doubtnut.com/l/_we62F6WSCygu
https://dl.doubtnut.com/l/_czlL8xh0fv2F


100. If , then

A. A is identity matrix

B. A is non-singular

C. A is invertible

D. A is not invertible

Answer: D

Watch Video Solution

A = [
1 1

1 1
]

101. If , then

A. A is singular

B.  exists

C.  does not exists

D.  is not singular

A = [
1 2

3 3
]

A− 1

A− 1

A− 1

https://dl.doubtnut.com/l/_Uh824dZ2BnkC
https://dl.doubtnut.com/l/_1ToYzxC0zOXq


Answer: B

Watch Video Solution

102. If , then

A. A is non-singular

B.  exists

C.  does not exists

D. 2A is non-singular

Answer: C

Watch Video Solution

A = [
2 3

10 15
]

A− 1

A− 1

103. If , then

A. A is singular

A = [
cos θ sin θ

−sin θ cos θ
]

https://dl.doubtnut.com/l/_1ToYzxC0zOXq
https://dl.doubtnut.com/l/_7BVh7VIXBX8z
https://dl.doubtnut.com/l/_ikCHRBsOYUWu


B.  exists

C.  does not exists

D.  is singular

Answer: B

Watch Video Solution

A− 1

A− 1

A− 1

104. If , then

A. A is scalar matrix

B. A is singular

C. A is not invertible

D. A is invertible

Answer: D

Watch Video Solution

A = [
secθ tan θ

tan θ secθ
]

https://dl.doubtnut.com/l/_ikCHRBsOYUWu
https://dl.doubtnut.com/l/_JIwKZE2lZO1k
https://dl.doubtnut.com/l/_3PTPre70bIEo


105. If , then

A.  exists

B.  does not exists

C. A is singular

D. A is null matrix

Answer: A

Watch Video Solution

A =
⎡
⎢
⎣

1 3 2

3 1 2

1 2 3

⎤
⎥
⎦

A− 1

A− 1

106. If , then

A. A is singular

B. A is lower triangular matrix

C. A is invertible

A =
⎡
⎢
⎣

3 4 3

1 1 0

1 4 5

⎤
⎥
⎦

https://dl.doubtnut.com/l/_3PTPre70bIEo
https://dl.doubtnut.com/l/_ixvkoD0WsP2V


D. A is not invertible

Answer: C

Watch Video Solution

107. If , then

A. A is not invertible

B. A is invertible

C. A is non-singular

D. 

Answer: A

Watch Video Solution

A =
⎡
⎢
⎣

1 2 3

2 −1 3

1 2 3

⎤
⎥
⎦

AA− 1 = 1

https://dl.doubtnut.com/l/_ixvkoD0WsP2V
https://dl.doubtnut.com/l/_iAJyAYFkZAxj


108. If , then

A. A is non-singular

B.  does not exists

C.  exists

D. 

Answer: B

Watch Video Solution

A =
⎡
⎢
⎣

1 2 3

3 4 5

4 6 8

⎤
⎥
⎦

A− 1

A− 1

AA− 1 = 1

109. If  is not invertible, then k=

A. 

B. 

C. 

⎡
⎢
⎣

sin( ) cos( )

2 tan( ) 2k

⎤
⎥
⎦

π

2

π

3

π

4

2

1

2

1

https://dl.doubtnut.com/l/_bsOdJgfWjnK6
https://dl.doubtnut.com/l/_DTiYtCl6pHu5


D. 

Answer: B

Watch Video Solution

3

110. The matrix  is invertible, if

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⎡
⎢
⎣

λ −1 4

−3 0 2

−1 1 2

⎤
⎥
⎦

λ ≠ − 18

λ ≠ − 17

λ ≠ − 8

λ ≠ − 15

https://dl.doubtnut.com/l/_DTiYtCl6pHu5
https://dl.doubtnut.com/l/_daUm9pJthnxE


111. The matrix  is not invertible, if a=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

1 a 2

1 2 5

2 1 1

⎤
⎥
⎦

−1

0

1

2

112. If the inverse of  does not exist, then x=

A. 

B. 

C. 

⎡
⎢
⎣

1 2 x

4 −1 7

2 4 −6

⎤
⎥
⎦

3

−3

0

https://dl.doubtnut.com/l/_KKqLi3fphfgb
https://dl.doubtnut.com/l/_mGwfGHEQUA8Q


D. 

Answer: C

Watch Video Solution

2

113. If  has no inverse, then x=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

⎡
⎢
⎣

x 1 1

2 3 4

1 1 1

⎤
⎥
⎦

−4

−2

1

−3

https://dl.doubtnut.com/l/_mGwfGHEQUA8Q
https://dl.doubtnut.com/l/_ocJhAPhSODdD


114. Matrix  is invertible for

A. 

B. 

C. 

D. all real k

Answer: D

Watch Video Solution

A =
⎡
⎢
⎣

1 0 −k

2 1 3

k 0 1

⎤
⎥
⎦

k = − 1

k = 0

k = 1

115. If k is a scalar and I is unit matrix of order 3, then 

A. 

B. 

C. 

D. 

adj(kI) =

−k3I

−k2I

k2I

k3I

https://dl.doubtnut.com/l/_wCTrHSpGfhsl
https://dl.doubtnut.com/l/_KW3SaEVbslcU


Answer: A

Watch Video Solution

116. If , then adjA=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a = [
−2 6

−5 7
]

[
7 −6

5 −2
]

[
7 −5

6 −2
]

[
2 −6

5 −7
]

[
−2 6

−5 7
]

117. If , then adjA=

A. 

A = [
2 −3

3 5
]

[
−5 −3

3 −2
]

https://dl.doubtnut.com/l/_KW3SaEVbslcU
https://dl.doubtnut.com/l/_Bs4hkpGmTo9D
https://dl.doubtnut.com/l/_4D3tIregS0BG


B. 

C. 

D. 

Answer: D

Watch Video Solution

[
−5 3

−3 2
]

[
5 −3

3 2
]

[
5 3

−3 2
]

118. If , then adjA=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = [
2 −3

4 1
]

[
1 −3

4 2
]

[
1 −3

−4 2
]

[
1 3

−4 2
]

[
1 −4

3 2
]

https://dl.doubtnut.com/l/_4D3tIregS0BG
https://dl.doubtnut.com/l/_CpNe51hqGg7Z
https://dl.doubtnut.com/l/_KPMLfDygjbT6


119. If , then |adjA|=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = [
4 2

3 4
]

6

10

16

−10

120. If , then transpose of adjX is

A. 

B. 

C. 

D. 

X = [
−x −y

z t
]

[
t z

−y −x
]

[
t −z

y −x
]

[
t y

−z −x
]

[
−x −y

z t
]

https://dl.doubtnut.com/l/_KPMLfDygjbT6
https://dl.doubtnut.com/l/_Wcq74A11LcgW


Answer: B

Watch Video Solution

121. Adjoint of the matrix  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

N =
⎡
⎢
⎣

−4 −3 −3

1 0 1

4 4 3

⎤
⎥
⎦

−N

N

2N

−2N

122. If , then adjA=A =
⎡
⎢
⎣

−1 −2 −2

2 1 −2

2 −2 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_Wcq74A11LcgW
https://dl.doubtnut.com/l/_BEmWh5s8RnRq
https://dl.doubtnut.com/l/_9mVS4FDjLB0L


A. A

B. A'

C. 3A

D. 3A'

Answer: A

Watch Video Solution

123. If , then  is

A. adj(A')

B. 

C. 

D. 

Answer: A

A =
⎡
⎢
⎣

3 5 −1

2 0 4

1 −3 0

⎤
⎥
⎦

⎡
⎢
⎣

12 4 −6

3 1 14

20 −14 −10

⎤
⎥
⎦

−(adj(A))

adjA

−A− 1

https://dl.doubtnut.com/l/_9mVS4FDjLB0L
https://dl.doubtnut.com/l/_CV09BlqVDpe5


Watch Video Solution

124. If , then adjA=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A =
⎡
⎢
⎣

1 −1 2

−2 3 5

−2 0 −1

⎤
⎥
⎦

⎡
⎢
⎣

−3 −1 −11

−12 3 −9

6 2 1

⎤
⎥
⎦

⎡
⎢
⎣

−3 −12 6

−1 3 2

−11 −9 1

⎤
⎥
⎦

⎡
⎢
⎣

−3 −1 −11

12 3 −9

6 2 1

⎤
⎥
⎦

⎡
⎢
⎣

−3 −1 11

−12 2 9

6 2 1

⎤
⎥
⎦

125. If , then adjA=A =
⎡
⎢
⎣

2 0 −1

3 1 2

−1 1 2

⎤
⎥
⎦

https://dl.doubtnut.com/l/_CV09BlqVDpe5
https://dl.doubtnut.com/l/_s8I2P3XUmg18
https://dl.doubtnut.com/l/_8CGeWc0LxK44


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⎡
⎢
⎣

0 −8 4

−1 3 −2

1 −7 2

⎤
⎥
⎦

⎡
⎢
⎣

0 −1 1

8 2 −7

4 −2 2

⎤
⎥
⎦

⎡
⎢
⎣

0 −1 1

−8 3 −7

4 −2 2

⎤
⎥
⎦

⎡
⎢
⎣

0 −1 −1

−8 3 −7

4 −2 2

⎤
⎥
⎦

126. If 
and A adj 
, then 
is equal to:
(1) 

(2) 5
(3) 4 (4)
13

A. 

B. 

C. 

D. 

A = [5a − b32] A = ∀T 5a + b −1

−1

5

4

13

https://dl.doubtnut.com/l/_8CGeWc0LxK44
https://dl.doubtnut.com/l/_lU48A7BGVM2E


Answer: B

Watch Video Solution

127. If the adjoint of a 3 3 matrix P is 1 4 4 2 1 7 1 1 3
 , then the possible

value(s) of the determinant of P is (are) (A) 2 (B) 1 (C) 1 (D) 2

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

±2

−1

1

0

128. , then (x, y)=A =
⎡
⎢
⎣

1 0 2

−1 1 −2

0 2 1

⎤
⎥
⎦

and adjA =
⎡
⎢
⎣

5 x −2

1 1 0

−2 −2 y

⎤
⎥
⎦

https://dl.doubtnut.com/l/_lU48A7BGVM2E
https://dl.doubtnut.com/l/_DmR7kjGvRptF
https://dl.doubtnut.com/l/_jAlrU7eDTvUm


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(4, − 1)

( − 4, 1)

( − 4, − 10)

(4, 1)

129. If  then k=

A. 

B. 

C. 

D. 

Answer: B

A =
⎡
⎢
⎣

−1 −2 −2

2 1 −2

2 −2 1

⎤
⎥
⎦

and kA' = adjA,

2

3

−2

−3

https://dl.doubtnut.com/l/_jAlrU7eDTvUm
https://dl.doubtnut.com/l/_ewEhs6C1WJri


Watch Video Solution

130. If A is a unit matrix of order n, then A(adjA) is

A. row matrix

B. zero matrix

C. unit matrix

D. not unit matrix

Answer: C

Watch Video Solution

131. If , then A(adjA)=

A. 

B. 

C. 

A = [
3 4

5 7
]

|A|I

|A|

I

https://dl.doubtnut.com/l/_ewEhs6C1WJri
https://dl.doubtnut.com/l/_eKbyemCSEVhY
https://dl.doubtnut.com/l/_9xmVGrGsllXx


D. 

Answer: A

Watch Video Solution

2I

132. If , then A(adjA)=kI, then k=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = [
1 2

3 4
]

2

−2

10

−10

133. If , then k=A = [
cosα sinα

−sinα cosα
] and A(adjA) = [

k 0

0 k
]

https://dl.doubtnut.com/l/_9xmVGrGsllXx
https://dl.doubtnut.com/l/_mNJxBwqGHMrs
https://dl.doubtnut.com/l/_1LAns27H2HHE


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sinα cosα

cos 2α

0

1

134. For a invertible matrix A, if , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A(adjA) = [
10 0

0 10
] |A| =

100

−100

10

−10

https://dl.doubtnut.com/l/_1LAns27H2HHE
https://dl.doubtnut.com/l/_b3czT6WyVwwi


135. If , then (adjA)A=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A =
⎡
⎢
⎣

1 −1 2

3 0 −2

1 0 3

⎤
⎥
⎦

⎡
⎢
⎣

2 0 0

0 2 0

0 0 2

⎤
⎥
⎦

⎡
⎢
⎣

7 0 0

0 7 0

0 0 7

⎤
⎥
⎦

⎡
⎢
⎣

−7 0 0

0 −7 0

0 0 −7

⎤
⎥
⎦

⎡
⎢
⎣

11 0 0

0 11 0

0 0 11

⎤
⎥
⎦

136. If , then A(adjA)=A =
⎡
⎢
⎣

1 −2 2

0 2 −3

3 −2 4

⎤
⎥
⎦

https://dl.doubtnut.com/l/_b3czT6WyVwwi
https://dl.doubtnut.com/l/_pEcqWLHw3qsd
https://dl.doubtnut.com/l/_uwB2tPsZNORJ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⎡
⎢
⎣

0 0 0

0 0 0

0 0 0

⎤
⎥
⎦

⎡
⎢
⎣

5 0 0

0 5 0

0 0 5

⎤
⎥
⎦

⎡
⎢
⎣

8 0 0

0 8 0

0 0 8

⎤
⎥
⎦

⎡
⎢
⎣

5 1 1

1 5 1

1 1 5

⎤
⎥
⎦

137. If A is a square matrix of order  then =

A. 

B. 

C. 

D. 

2 × 2 and |A| = 5, |A(adjA)|

5

20

25

30

https://dl.doubtnut.com/l/_uwB2tPsZNORJ
https://dl.doubtnut.com/l/_XUMRIcnGQvUK


Answer: C

Watch Video Solution

138. If A is a square matrix of order n, where

, then n=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

|A| = 5 and |A(adjA)| = 125

3

2

1

4

139. If A is a non-singular matrix of order 3, then adj(adj(A)) is equal to

https://dl.doubtnut.com/l/_XUMRIcnGQvUK
https://dl.doubtnut.com/l/_mhemLPeq26vh
https://dl.doubtnut.com/l/_LqSBaHNWPzJE


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A

A− 1

|A|A

A− 11

|A|

140. If , then |adj(adjA)|=

A. 

B. 

C. 

D. 

Answer: D

A =
⎡
⎢
⎣

2 −1 1

1 2 1

−1 1 3

⎤
⎥
⎦

172

173

175

174

https://dl.doubtnut.com/l/_LqSBaHNWPzJE
https://dl.doubtnut.com/l/_aeRBX9Vr5gsv


Watch Video Solution

141. If  and  and , then find the

value of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A =
⎡
⎢
⎣

1 −1 1

0 2 −3

2 1 0

⎤
⎥
⎦

B = (adjA) C = 5A

|adjB|

|C|

−1

1

5

25

142. If , then the value of  is

A. 

A =
⎡
⎢
⎣

1 2 3

1 4 9

1 8 27

⎤
⎥
⎦

|adjA|

144

https://dl.doubtnut.com/l/_aeRBX9Vr5gsv
https://dl.doubtnut.com/l/_fEC9IU79eFpe
https://dl.doubtnut.com/l/_qZMOCQi1f3RK


B. 

C. 

D. 

Answer: A

Watch Video Solution

72

36

18

143. If  is the adjoint of  matrix A and , then

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

P =
⎡
⎢
⎣

1 α 3

1 3 3

2 4 4

⎤
⎥
⎦

3 × 3 |A| = 4

α =

0

4

5

11

https://dl.doubtnut.com/l/_qZMOCQi1f3RK
https://dl.doubtnut.com/l/_ki69aWnlJtvN


Watch Video Solution

144. If A is a matrix of order 3 and , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

|A| = 8 |adjA| =

1

2

23

26

145. For a  matrix A if  is (A) Both A and R are

true and R is the correct explanation of A (B) Both A and R are true R is

not te correct explanation of A (C) A is true but R is false. (D) A is false but

R is true.

A. 

3 × 3 |A| = 4, then|Adj. A|

−4

https://dl.doubtnut.com/l/_ki69aWnlJtvN
https://dl.doubtnut.com/l/_9n7uXPEclcku
https://dl.doubtnut.com/l/_SxvwwqzA9aUi


B. 

C. 

D. 

Answer: C

Watch Video Solution

4

16

64

146. If A is a square matrix of order 3 and , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

|adjA| = 25 |A| =

25

−25

±5

625

https://dl.doubtnut.com/l/_SxvwwqzA9aUi
https://dl.doubtnut.com/l/_frCVvbx0V00J
https://dl.doubtnut.com/l/_jAXX93kDjyU2


147. If A is a square matrix of order 3 such that  exists, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A− 1

|adjA| =

|A|

|A|2

|A|3

|A|4

148. If , then 

A. 

B. 

C. 

A =
⎡
⎢
⎣

a 0 0

0 a 0

0 0 a

⎤
⎥
⎦

|adjA| =

a3

a6

a9

https://dl.doubtnut.com/l/_jAXX93kDjyU2
https://dl.doubtnut.com/l/_erFwXDRxGrYr


D. 

Answer: B

Watch Video Solution

a27

149. If , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A =
⎡
⎢
⎣

a 0 0

0 a 0

0 0 a

⎤
⎥
⎦

|A||adjA| =

a3

a6

a9

a27

https://dl.doubtnut.com/l/_erFwXDRxGrYr
https://dl.doubtnut.com/l/_sIxB5U9RfVIz


150. If , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A =
⎡
⎢
⎣

3 0 0

0 3 0

0 0 3

⎤
⎥
⎦

|A||adjA| =

33

36

39

327

151. If A is a square matrix of order 3 and , then the value of

the determinant  is

A. 

B. 

C. 

|A| = − 2

|A||adjA|

8

−8

−1

https://dl.doubtnut.com/l/_cJrKbExm4IQX
https://dl.doubtnut.com/l/_iyNhxNGUaHif


D. 

Answer: B

Watch Video Solution

−32

152. If , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A =
⎡
⎢
⎣

0 1 −1

2 1 3

3 2 1

⎤
⎥
⎦

(A(adjA)A− 1)A =

2
⎡
⎢
⎣

3 0 0

0 3 0

0 0 3

⎤
⎥
⎦

⎡
⎢
⎣

−6 0 0

0 −6 0

0 0 −6

⎤
⎥
⎦

⎡
⎢
⎣

0 1 −1

2 1 3

3 2 1

⎤
⎥
⎦

1

6

⎡
⎢
⎣

3 0 0

0 3 0

0 0 3

⎤
⎥
⎦

https://dl.doubtnut.com/l/_iyNhxNGUaHif
https://dl.doubtnut.com/l/_N47taC3Bl6OV
https://dl.doubtnut.com/l/_Iu6pVr2PP2ND


153. If for the matrix A, , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A3 = I A− 1 =

A

A2

A3

−A3

154. If for the matrix A, , then 

A. 

B. 

C. 

D. 

A5 = I A− 1 =

A2

A3

A

A4

https://dl.doubtnut.com/l/_Iu6pVr2PP2ND
https://dl.doubtnut.com/l/_E88Cs2uSGGIV


Answer: D

Watch Video Solution

155. If A and B are square matrices of the same order and , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AB = 3I

A− 1 =

3B

3B− 1

B
1

3

B− 11

3

156. If , then A2 − A + I = 0 A− 1 =

https://dl.doubtnut.com/l/_E88Cs2uSGGIV
https://dl.doubtnut.com/l/_8uYbBpYRBBqn
https://dl.doubtnut.com/l/_PWijiWtGV5I0


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A− 2

I − A

A − I

A + I

157. If A is a square matrix satisfying the equation ,

then 

A. 

B. 

C. 

D. 

Answer: B

A2 − 4A − 5I = 0

A− 1 =

(A + 4I)
1

5

(A − 4I)
1

5

(I − 4A)
1

5

(I + 4A)
1

5

https://dl.doubtnut.com/l/_PWijiWtGV5I0
https://dl.doubtnut.com/l/_Bhj8xH0L1rY8


Watch Video Solution

158. If , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A = [
3 1

−1 2
] and A2 − 5A + 7I = 0 I =

(A) + (A− 1)
1

5

7

5

(A) + (A− 1)
1

7

5

7

(A) − (A− 1)
1

7

5

7

(A) − (A− 1)
1

5

7

5

159. If A is non-singular and , then 

A. 

B. 

(A − 2I)(A − 4I) = 0

(A) + (A− 1) =
1

6

4

3

I

0

https://dl.doubtnut.com/l/_Bhj8xH0L1rY8
https://dl.doubtnut.com/l/_hNFdDsdIS5Ny
https://dl.doubtnut.com/l/_MtMqvqbwONxe


C. 

D. 

Answer: A

Watch Video Solution

2I

6I

160. If a matrix A is such that , then its inverse

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3A3 + 2A2 + 5A + I = 0

3A2 − 2A − 5I

3A2 + 2A + 5I

−(3A2 + 2A + 5I)

3A2 − 2A + 5I

https://dl.doubtnut.com/l/_MtMqvqbwONxe
https://dl.doubtnut.com/l/_O1BQ2O5C1E37
https://dl.doubtnut.com/l/_pbVKat21D5FM


161. If A is a non-singular matrix, such that ,

then 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

I + A + A2 + … + An = 0

A− 1 =

An

−An

−(I + A + A2 + … + An)

A2

162. If 
 is an 
 non-singular matrix such that


 then 
 equals:
 
 (b) 
 (c) 


(d) 

A. 

B. 

A 3x3

∀ ′ − A ′AandB = A− 1A ′ , BB' B− 1 (B− 1)'

I + B I

I + B

I

https://dl.doubtnut.com/l/_pbVKat21D5FM
https://dl.doubtnut.com/l/_yyHWB4eWfUKb


C. 

D. 

Answer: B

Watch Video Solution

B− 1

B− 1
'

163. If A and B are two square matrices such that , then 

 is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

B = − A− 1BA

(A + B)2

0

A + B

A2 + B2

A2 + 2AB + B2

https://dl.doubtnut.com/l/_yyHWB4eWfUKb
https://dl.doubtnut.com/l/_VLOgzQ2CZSWN
https://dl.doubtnut.com/l/_BKH6A0nUVjK8


164. If A and B are square matrices of the same order such that

 then  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(A + B)(A − B) = A2 − B2 (ABA− 1)
2

I

A2

B2

A2B2

165. For a square matrix A and a non-singular matrix B, of the same order,

the value of 

A. 

B. 

C. 

∣∣B
− 1AB∣∣ =

|A|

∣∣A
− 1∣∣

|B|

https://dl.doubtnut.com/l/_BKH6A0nUVjK8
https://dl.doubtnut.com/l/_QxHvNLIizJjZ


D. 

Answer: A

Watch Video Solution

∣∣B
− 1∣∣

166. If , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A = [
0 3

2 0
] and A− 1 = λ(adjA) λ =

−
1

6

−
1

3

1

3

1

6

167. If  and ,then the value of x isA = [
x −2

3 7
] A− 1 = [ ]

7
34

1

17

− 3

34

2

17

https://dl.doubtnut.com/l/_QxHvNLIizJjZ
https://dl.doubtnut.com/l/_TBl9TtfYw08V
https://dl.doubtnut.com/l/_vLHLAqxUwvVG


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−4

2

3

4

168. If matrix  adj A, then k is

A. 

B. 

C. 

D. 

Answer: D

A =
⎡
⎢
⎣

3 2 4

1 2 −1

0 1 1

⎤
⎥
⎦

and A− 1 =
1

k

−7

1

7

7

11

https://dl.doubtnut.com/l/_vLHLAqxUwvVG
https://dl.doubtnut.com/l/_YqOwx8e6jQiU


Watch Video Solution

169. If , then adjA=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A− 1 =
⎡
⎢
⎣

1 4 −2

−2 −5 4

1 −2 1

⎤
⎥
⎦

and |A| = 3
1

3

⎡
⎢
⎣

1 4 −2

−2 −5 4

1 −2 1

⎤
⎥
⎦

1

9

⎡
⎢
⎣

1 −2 1

4 −5 −2

−2 4 1

⎤
⎥
⎦

⎡
⎢
⎣

1 4 −2

−2 −5 4

1 −2 1

⎤
⎥
⎦

⎡
⎢
⎣

−1 −4 −2

2 5 4

1 −4 1

⎤
⎥
⎦

170. If , then A =
⎡
⎢
⎣

cosα −sinα 0

sinα cosα 0

0 0 1

⎤
⎥
⎦

(adjA)
− 1

=

https://dl.doubtnut.com/l/_YqOwx8e6jQiU
https://dl.doubtnut.com/l/_W9p4f0DzgUHG
https://dl.doubtnut.com/l/_vaBzUD3BAQIt


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

⎡
⎢
⎣

cosα −sinα 0

sinα cosα 0

0 0 1

⎤
⎥
⎦

⎡
⎢
⎣

−cosα sinα 0

sinα −cosα 0

0 0 1

⎤
⎥
⎦

⎡
⎢
⎣

−cosα sinα 0

sinα cosα 0

0 0 1

⎤
⎥
⎦

⎡
⎢
⎣

cosα sinα 0

−sinα cosα 0

0 0 1

⎤
⎥
⎦

171. The element of second row and third column in the inverse of

 is

A. 

B. 

C. 

⎡
⎢
⎣

1 2 1

2 1 0

−1 0 1

⎤
⎥
⎦

−2

−1

1

https://dl.doubtnut.com/l/_vaBzUD3BAQIt
https://dl.doubtnut.com/l/_nB9JxDcKs8Vz


D. 

Answer: B

Watch Video Solution

2

172. The element of second row and third column in the inverse of

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

⎡
⎢
⎣

1 2 −3

0 1 2

0 0 1

⎤
⎥
⎦

−2

0

1

7

https://dl.doubtnut.com/l/_nB9JxDcKs8Vz
https://dl.doubtnut.com/l/_HMrgUnCvQE6Q


173. Let  and . If B is the

inverse of A, then  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A =
⎡
⎢
⎣

1 −1 1

2 1 −3

1 1 1

⎤
⎥
⎦

10B =
⎡
⎢
⎣

4 2 2

−5 0 α

1 −2 3

⎤
⎥
⎦

α

−2

−1

2

5

174. If matrix  and its inverse is denoted by 

 then the value of =

A. 

A =
⎡
⎢
⎣

1 0 −1

3 4 5

0 6 7

⎤
⎥
⎦

A− 1 =
⎡
⎢
⎣

a11 a12 a13

a21 a22 a23

a31 a32 a33

⎤
⎥
⎦

, a23

−2

3

https://dl.doubtnut.com/l/_V7JDLhiGQXmV
https://dl.doubtnut.com/l/_G2jawpL9Lz7S


B. 

C. 

D. 

Answer: C

Watch Video Solution

1

5

2

5

21

20

175. If , then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A =
⎡
⎢
⎣

0 1 2

1 2 3

3 a 1

⎤
⎥
⎦

and A− 1 =
⎡
⎢
⎣

−1 1 −1

8 −6 −2k

−5 3 −1

⎤
⎥
⎦

−1

2

a = − 1, k = 1

a = 1, k = − 1

a = 2, k =
−1

2

a = , k =
1

2

1

2

https://dl.doubtnut.com/l/_G2jawpL9Lz7S
https://dl.doubtnut.com/l/_OzGBQbmisfQr


176. If the inverse of  is , then k=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

⎡
⎢
⎣

2 −1 4

4 −3 1

1 2 1

⎤
⎥
⎦

⎡
⎢
⎣

−5 9 11

−3 −2 14

11 −5 k

⎤
⎥
⎦

1

37

2

3

−2

−3

177. If , then 

A. 

B. 

C. 

A = [
cos θ sin θ

−sin θ cos θ
] ∣∣A

− 1∣∣ =

1

−1

2

https://dl.doubtnut.com/l/_OzGBQbmisfQr
https://dl.doubtnut.com/l/_ECIiJxPRE1tC
https://dl.doubtnut.com/l/_kzHUemM755Yu


D. 

Answer: A

Watch Video Solution

4

178. If , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A =
⎡
⎢
⎣

1 −1 2

0 2 −3

3 −2 4

⎤
⎥
⎦

∣∣A
− 1∣∣ =

1

−1

0

2

https://dl.doubtnut.com/l/_kzHUemM755Yu
https://dl.doubtnut.com/l/_m3xV1LJp1QP9


179. If , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A =
⎡
⎢
⎣

1 2 3

1 3 4

3 4 3

⎤
⎥
⎦

∣∣A
− 1∣∣ =

1

4

−1

4

4

−4

180. If  is square matrix of order 3,  and , then k

is

A. 

B. 

C. 

A |A| = 1000 ∣∣kA
− 1∣∣ = 27

20

40

30

https://dl.doubtnut.com/l/_cZonk3pzosMW
https://dl.doubtnut.com/l/_cxSpEsV7u3vW


D. 

Answer: C

Watch Video Solution

9

181. If , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A = [
4 5

2 5
] ∣∣2A

− 1∣∣ =

1

30

1

20

1

60

2

5

182. If  and  then x equals toA = [
2x 0

x x
] A− 1 = [

1 0

−1 2
]

https://dl.doubtnut.com/l/_cxSpEsV7u3vW
https://dl.doubtnut.com/l/_pJSzThLlYE0S
https://dl.doubtnut.com/l/_duV1vFiyDjyL


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

2

1

2

1

3

183. If , then A=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A− 1 = [
1 −4

−1 2
]

−1

2

[
2 4

1 1
]

[
1 −4

−1 2
]

[
2 4

−1 1
]

[
1 1

4 2
]

https://dl.doubtnut.com/l/_duV1vFiyDjyL
https://dl.doubtnut.com/l/_zC6LC13vien9


184. If , then

A. 

B.  exists

C.  does not exists

D.  exists

Answer: C

Watch Video Solution

A = [
2 −2

−2 2
] and B = [

1 1

1 1
]

A− 1 = B

B− 1

A− 1

A− 1

185. If the multiplicative group of  matrices of the form , for 

, then the inverse of  is

A. 

B. 

2 × 2 [
a a

a a
]

a ≠ 0 and a ∈ R [
2 2

2 2
]

[ ]

1

2

1

2

1

2

1

2

[ ]

1

4

1

4

1

4

1

4

https://dl.doubtnut.com/l/_zC6LC13vien9
https://dl.doubtnut.com/l/_ruw1v7SXtzGN
https://dl.doubtnut.com/l/_OQ1wBtl2859K


C. 

D. does not exist

Answer: D

Watch Video Solution

[ ]

1

8

1

8

1

8

1

8

186. The inverse of matrix  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[
1 2

3 4
]

[
4 −2

−3 1
]

−1

2

[
4 −2

−3 1
]

1

2

[
4 −3

3 1
]

−1

2

[
4 −3

−2 1
]

1

2

https://dl.doubtnut.com/l/_OQ1wBtl2859K
https://dl.doubtnut.com/l/_AGVq0BDXc0Vg


187. The inverse of matrix  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[
3 −10

2 −7
]

−[
−7 −2

10 3
]

[
−7 −2

10 3
]

−[
−7 10

−2 3
]

[
−7 10

−2 3
]

188. The inverse of matrix  is

A. 

B. 

C. 

D. 

[
2 1

7 4
]

−[
4 1

7 2
]

[
4 1

7 2
]

−[
4 −1

−7 2
]

[
4 −1

−7 2
]

https://dl.doubtnut.com/l/_WBQT3OAhjfZi
https://dl.doubtnut.com/l/_1DVnPf0ycuOH


Answer: D

Watch Video Solution

189. The inverse of matrix  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[
2 −3

5 7
]

[
7 3

−5 2
]

−1

29

[
7 3

−5 2
]

1

29

−[
7 3

−5 2
]

[
7 3

−5 2
]

190. The inverse of matrix  is

A. 

[
1 3

2 7
]

[
7 −3

−2 1
]

https://dl.doubtnut.com/l/_1DVnPf0ycuOH
https://dl.doubtnut.com/l/_IIrc3qfeo6am
https://dl.doubtnut.com/l/_NPqX2lAyJ270


B. 

C. 

D. 

Answer: A

Watch Video Solution

[
−7 3

2 −1
]

[
7 −2

−3 1
]

[
−7 2

3 −1
]

191. The inverse of matrix  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[
2 1

1 −1
]

−[
1 1

1 −2
]

[
1 1

1 −2
]

[
1 1

1 −2
]

−1

3

[
1 1

1 −2
]

1

3

https://dl.doubtnut.com/l/_NPqX2lAyJ270
https://dl.doubtnut.com/l/_5sX3Z7dOiLP2
https://dl.doubtnut.com/l/_Qf1TGmBMxCvG


192. The inverse of matrix  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[
1 −1

2 3
]

[
3 −1

−2 1
]

1

5

[
3 1

−2 1
]

1

5

[
−3 1

−2 1
]

1

5

[
3 −1

2 −1
]

1

5

193. The inverse of matrix  is

A. 

B. 

C. 

D. 

[
2 −3

−1 2
]

[
2 1

3 2
]

−[
2 1

3 2
]

[
2 3

1 2
]

−[
2 3

1 2
]

https://dl.doubtnut.com/l/_Qf1TGmBMxCvG
https://dl.doubtnut.com/l/_HJ6UjoLFBOPX


Answer: C

Watch Video Solution

194. The inverse of matrix  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[
1 2

2 −1
]

[
1 2

2 −1
]

−1

5

[
1 2

2 −1
]

1

5

[
−1 2

2 1
]

−1

5

[
−1 −2

−2 1
]

1

5

195. The inverse of matrix  is

A. 

[
2 −2

4 3
]

[
3 −2

4 2
]

1

14

https://dl.doubtnut.com/l/_HJ6UjoLFBOPX
https://dl.doubtnut.com/l/_Gq3N4fB11erd
https://dl.doubtnut.com/l/_IlTer4NF0fWz


B. 

C. 

D. 

Answer: C

Watch Video Solution

[
3 2

−4 2
]

−1

2

[
3 2

−4 2
]

1

14

[
3 2

−4 2
]

1

2

196. The inverse of matrix  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[
−1 5

−3 2
]

[
2 −5

3 −1
]

1

13

[
−1 5

−3 2
]

1

13

[
−1 −3

5 2
]

1

13

[
1 5

3 −2
]

1

13

https://dl.doubtnut.com/l/_IlTer4NF0fWz
https://dl.doubtnut.com/l/_03CUiNL7Wfka
https://dl.doubtnut.com/l/_odMeUzTGeOal


197. If , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = [
5 4

3 2
] A− 1 =

[
−2 4

3 5
]

1

2

[
2 −4

−3 5
]

−1

2

[
−4 4

−3 5
]

1

2

[
2 3

4 5
]

1

2

198. If , then 

A. 

B. 

C. 

D. 

A = [
5 4

4 3
] A− 1 =

[
−4 4

−3 5
]

1

2

[
3 4

4 5
]

[
−3 4

4 −5
]

[
1 2

−3 2
]

https://dl.doubtnut.com/l/_odMeUzTGeOal
https://dl.doubtnut.com/l/_hjYlU0Rm5bXB


Answer: C

Watch Video Solution

199. The inverse of matrix  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A = [
2 −3

−4 2
]

[
2 3

4 2
]

−1

8

[
2 3

4 2
]

1

8

[
3 2

2 4
]

−1

8

[
3 2

2 4
]

1

8

200. The inverse of matrix  is

A. 

[
2 1

7 4
]

[
4 −7

7 2
]

https://dl.doubtnut.com/l/_hjYlU0Rm5bXB
https://dl.doubtnut.com/l/_MqBJgKmY9AJw
https://dl.doubtnut.com/l/_rLle6PtLwE4k


B. 

C. 

D. 

Answer: B

Watch Video Solution

[
4 −1

−7 2
]

[
4 −1

−7 −2
]

[
−4 −1

7 −2
]

201. if  where  and 

then  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A = [aij]2 ⋅2
aij = {i + j, i ≠ j aij = i2 − 2j, i = j

A− 1

[
0 3

3 0
]

1

9

[
0 −3

−3 −1
]

1

2

[
4 1

−1 2
]

1

9

[
4 1

−1 2
]

−1

9

https://dl.doubtnut.com/l/_rLle6PtLwE4k
https://dl.doubtnut.com/l/_Nd7fLNYDjGoW


202. If , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = [
i 0

0
]i

2

A− 1 =

[
i 0

0
]i

2

[
i 0

0 2i
]

[
− i 0

0 −2i
]

[
0 i

2i 0
]

203. If  and , then  is

equal to

A. 

B. 

A = [
a + ib c + id

−c + id a − ib
] a2 + b2 + c2 + d2 = 1 A− 1

[
a + ib −c + id

c + id a − ib
]

[
a − ib −c + id

c + id a + ib
]

https://dl.doubtnut.com/l/_Nd7fLNYDjGoW
https://dl.doubtnut.com/l/_KarsVgkRE47Q
https://dl.doubtnut.com/l/_HN2AIkBuSTSO


C. 

D. 

Answer: C

Watch Video Solution

[
a − ib c − id

c − id a + ib
]

−[
a − ib c − id

c − id a + ib
]

204. The inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[
secθ tan θ

tan θ secθ
]

[
secθ tan θ

tan θ −secθ
]

[
−secθ tan θ

tan θ secθ
]

[
secθ −tan θ

−tan θ secθ
]

[
−secθ −tan θ

tan θ −secθ
]

https://dl.doubtnut.com/l/_HN2AIkBuSTSO
https://dl.doubtnut.com/l/_yiylSUyUttTI


205. The inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[
cos ecθ −cot θ

−cot θ cos ecθ
]

[
cos ecθ cot θ

cot θ cos ecθ
]

[
−cos ecθ cot θ

cot θ −cos ecθ
]

[
cos ecθ −cot θ

cot θ −cos ecθ
]

[
cos ecθ −cot θ

cot θ cos ecθ
]

206. Inverse of the matrix  is

A. 

B. 

C. 

D. 

A = [
cos 2θ −sin 2θ

sin 2θ cos 2θ
]

[
cos 2θ sin 2θ

sin 2θ cos 2θ
]

[
cos 2θ sin 2θ

−sin 2θ cos 2θ
]

[
cos 2θ −sin 2θ

sin 2θ cos 2θ
]

[
cos 2θ sin 2θ

sin 2θ −cos 2θ
]

https://dl.doubtnut.com/l/_nq7exFlOxKMc
https://dl.doubtnut.com/l/_xiBA1WgvzIXr


Answer: B

Watch Video Solution

207. If , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = [
2 −3

5 −7
] A + A− 1 =

[
1 0

0 1
]

[
−5 0

0 −5
]

[
5 0

0 5
]

[
4 0

0 −5
]

208. If , then 

A. 

A = [
3 2

0 1
] (A− 1)

3
=

[
−1 26

0 27
]

1

27

https://dl.doubtnut.com/l/_xiBA1WgvzIXr
https://dl.doubtnut.com/l/_eF0PesWW1RM0
https://dl.doubtnut.com/l/_NYfxmgOO1NiH


B. 

C. 

D. 

Answer: B

Watch Video Solution

[
1 −26

0 27
]

1

27

[
1 −26

0 −27
]

1

27

[
−1 −26

0 −27
]

1

27

209. If , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = [
2 −3

−4 7
] 2A− 1 =

8I − 2A

9I − A

2I − 2A

A − 9I

https://dl.doubtnut.com/l/_NYfxmgOO1NiH
https://dl.doubtnut.com/l/_WlLODXlOP7sE
https://dl.doubtnut.com/l/_uixBDFZKMiiI


210. If , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = [
2 3

5 −2
] A− 1 =

A2

A
1

19

A
1

17

A
1

15

211. If , then 

A. 

B. 

C. 

D. 

A = [
1 3

0 3
] A− 1 =

(4I − A)
1

3

(A − 4I)
1

3

4I − A

A − 4I

https://dl.doubtnut.com/l/_uixBDFZKMiiI
https://dl.doubtnut.com/l/_AnRt3Sgp3nlf


Answer: A

Watch Video Solution

212. If , then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A = [
4 5

2 1
]

6A− 1 = A − 5I

6A− 1 = 5I − A

6A− 1 = A + 5I

6A− 1 = A + 5I

213. If , then

A. 

A = [
1 2

−5 1
] and A− 1 = xA + yI

x = , y =
−1

11

−2

11

https://dl.doubtnut.com/l/_AnRt3Sgp3nlf
https://dl.doubtnut.com/l/_2erkXjaMHW0G
https://dl.doubtnut.com/l/_kcPTauRs7f4H


B. 

C. 

D. 

Answer: B

Watch Video Solution

x = , y =
−1

11

2

11

x = , y =
1

11

−2

11

x = , y =
1

11

2

11

214. If , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[
x y3

2 0
] = [

1 8

2 0
] [

x y

2 0
]

− 1

=

[
0 −2

−2 1
]

[
1 0

0 1
]

[
0 −8

−2 1
]

[
0

−
]

1
2

1
2

1

4

https://dl.doubtnut.com/l/_kcPTauRs7f4H
https://dl.doubtnut.com/l/_1Gats6sOfdxC


215. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

⎡
⎢
⎣

1 −tan( )

tan( ) 1

⎤
⎥
⎦

⎡
⎢
⎣

1 tan( )

−tan( ) 1

⎤
⎥
⎦

− 1

=

θ

2

θ

2

θ

2

θ

2

[
1 0

0 1
]

[
0 0

0 0
]

[
cos θ sin θ

sin θ cos θ
]

[
cos θ −sin θ

sin θ cos θ
]

216. If , then A=

A. 

B. 

C. 

D. 

[
1 1

0 1
]A = I

[
1 1

0 −1
]

[
−1 1

0 1
]

[
1 1

0 1
]

[
1 −1

0 1
]

https://dl.doubtnut.com/l/_YPPUPTBrwiW7
https://dl.doubtnut.com/l/_gW1SeItaVr9g


Answer: D

Watch Video Solution

217. If , then X=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A = [
1 2

3 4
] and AX = I

[
2 −1

−3 1
]

−[
2 −1

−3 1
]

[
4 −2

−3 1
]

1

2

[
4 −2

−3 1
]

−1

2

218. If matrix  such that AX=I , then X=

A. 

A = [
1 2

3 4
]

[
1 3

2 −1
]

1

2

https://dl.doubtnut.com/l/_gW1SeItaVr9g
https://dl.doubtnut.com/l/_ON7FLPNm0FVE
https://dl.doubtnut.com/l/_iXelAY0szt0x


B. 

C. 

D. 

Answer: C

Watch Video Solution

[
4 2

4 −1
]

1

2

[
−4 2

3 −1
]

1

2

[
−1 2

−1 4
]

1

2

219. If , then B=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A =
⎡
⎢
⎣

1 tan( )

−tan( ) 1

⎤
⎥
⎦

and AB = I

θ

2

θ

2

cos2( )I
θ

2

cos2( )A
θ

2

cos2( )ATθ

2

−cos2( )ATθ

2

https://dl.doubtnut.com/l/_iXelAY0szt0x
https://dl.doubtnut.com/l/_xWxl9FtGsWs2


220. If AX=B, where , , then X=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A = [
−1 2

2 −1
]B = [

3

1
]

[ 5 7 ]

[ 5 7 ]
1

3

[
5

7
]

[
5

7
]

1

3

221. The matrix A satisfying  is

A. 

B. 

C. 

D. 

A[
1 5

0 1
] = [

3 −1

6 0
]

[
6 −6

12 4
]

[
3 −16

6 −30
]

[
9 −16

36 −45
]

[
9 4

36 4
]

https://dl.doubtnut.com/l/_xWxl9FtGsWs2
https://dl.doubtnut.com/l/_AdTD1HH9hA4o
https://dl.doubtnut.com/l/_AtiXiTSNmFBy


Answer: B

Watch Video Solution

222. If , then X=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = [
1 2

−1 3
], B = [

0 1

2 4
] and AX = B

[
−4 −5

2 5
]

−1

5

[
−4 −5

2 5
]

1

5

−[
−4 −1

2 1
]

[
−4 −1

2 1
]

223. If 

then X=

A = [
1 1

1 2
], B = [

4 1

3 1
], C = [

24 7

31 9
] and AXB = C,

https://dl.doubtnut.com/l/_AtiXiTSNmFBy
https://dl.doubtnut.com/l/_8X3hOpcujQVK
https://dl.doubtnut.com/l/_CXKpzMoPym0D


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−[
1 3

1 2
]

[
1 3

1 2
]

−[
2 3

1 1
]

[
2 3

1 1
]

224. If , then A=

A. 

B. 

C. 

D. 0

Answer: A

Watch Video Solution

[
2 1

3 2
]A[

−3 2

5 −3
] = [

1 0

0 1
]

[
1 1

1 0
]

[
1 0

1 1
]

[
0 1

1 1
]

https://dl.doubtnut.com/l/_CXKpzMoPym0D
https://dl.doubtnut.com/l/_HrKox3z78hzD


225. The inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

⎡
⎢
⎣

x 0 0

0 y 0

0 0 z

⎤
⎥
⎦

⎡
⎢⎢⎢
⎣

0 0

0 0

0 0

⎤
⎥
⎥
⎥
⎦

1
x

1
y

1
z

−

⎡
⎢
⎢
⎢
⎣

0 0

0 0

0 0

⎤
⎥
⎥
⎥
⎦

1
x

1
y

1
z

⎡
⎢
⎣

yz 0 0

0 zx 0

0 0 xy

⎤
⎥
⎦

−
⎡
⎢
⎣

yz 0 0

0 zx 0

0 0 xy

⎤
⎥
⎦

226. The inverse of the matrix  is
⎡
⎢
⎣

2 0 0

0 1 0

0 0 −1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_HrKox3z78hzD
https://dl.doubtnut.com/l/_mBexv8QBkXJi
https://dl.doubtnut.com/l/_shG5PES1w97T


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

⎡
⎢⎢
⎣

0 0

0 1 0

0 0 −1

⎤
⎥
⎥
⎦

1

2

⎡
⎢⎢
⎣

− 0 0

0 −1 0

0 0 1

⎤
⎥
⎥
⎦

1

2

⎡
⎢⎢
⎣

−1 0 0

0 − 0

0 0

⎤
⎥
⎥
⎦

1

2

1

2

⎡
⎢
⎢
⎣

− 0 0

0 −1 0

0 0 −1

⎤
⎥
⎥
⎦

−1

2

1

2

227. If , then 

A. 

B. 

C. 

D. 

A =
⎡
⎢
⎣

0 1 0

1 0 0

0 0 1

⎤
⎥
⎦

A− 1 =

2A

A

−A

1

https://dl.doubtnut.com/l/_shG5PES1w97T
https://dl.doubtnut.com/l/_ipeq2GkjGWMc


Answer: B

Watch Video Solution

228. The inverse of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⎡
⎢
⎣

0 0 1

0 1 0

1 0 0

⎤
⎥
⎦

⎡
⎢
⎣

1 0 0

0 1 0

0 0 1

⎤
⎥
⎦

⎡
⎢
⎣

0 0 −1

0 −1 0

0 0 −1

⎤
⎥
⎦

⎡
⎢
⎣

0 0 1

0 1 0

1 0 0

⎤
⎥
⎦

⎡
⎢
⎣

−1 0 0

0 1 0

0 0 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_ipeq2GkjGWMc
https://dl.doubtnut.com/l/_jHLxvKgZRBf7


229. The inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

1 0 0

2 1 0

3 3 1

⎤
⎥
⎦

−
⎡
⎢
⎣

1 0 0

−2 1 0

3 −3 1

⎤
⎥
⎦

⎡
⎢
⎣

1 0 0

−2 1 0

3 −3 1

⎤
⎥
⎦

−
⎡
⎢
⎣

1 −2 3

0 1 −3

0 0 1

⎤
⎥
⎦

⎡
⎢
⎣

1 −2 3

0 1 −3

0 0 1

⎤
⎥
⎦

230. The inverse of the matrix  is

A. 

⎡
⎢
⎣

2 1 3

1 0 1

1 1 1

⎤
⎥
⎦

⎡
⎢
⎣

−1 0 1

2 −1 1

1 −1 −1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_7PuH2QJLyIFk
https://dl.doubtnut.com/l/_NS2CZA392kdm


B. 

C. 

D. 

Answer: C

Watch Video Solution

−
⎡
⎢
⎣

−1 0 1

2 −1 1

1 −1 −1

⎤
⎥
⎦

⎡
⎢
⎣

−1 2 1

0 −1 1

1 −1 −1

⎤
⎥
⎦

−
⎡
⎢
⎣

−1 2 1

−1 1 0

1 −1 −1

⎤
⎥
⎦

231. The inverse of the matrix  is

A. 

B. 

C. 

D. 

⎡
⎢
⎣

1 3 3

1 4 3

1 3 4

⎤
⎥
⎦

⎡
⎢
⎣

−7 −3 −3

−1 1 0

−1 0 1

⎤
⎥
⎦

⎡
⎢
⎣

7 3 3

−1 1 0

0 0 −1

⎤
⎥
⎦

⎡
⎢
⎣

7 −3 −3

−1 1 0

−1 0 1

⎤
⎥
⎦

⎡
⎢
⎣

−7 3 3

−1 1 0

1 0 −1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_NS2CZA392kdm
https://dl.doubtnut.com/l/_pjX9VhQ5B7ae


Answer: C

Watch Video Solution

232. The inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

3 −2 −1

−4 1 −1

2 0 1

⎤
⎥
⎦

⎡
⎢
⎣

1 2 3

3 3 7

−2 −4 −5

⎤
⎥
⎦

⎡
⎢
⎣

1 2 3

2 5 7

−2 −4 −5

⎤
⎥
⎦

⎡
⎢
⎣

1 −3 5

7 4 6

4 2 7

⎤
⎥
⎦

⎡
⎢
⎣

1 2 −4

8 −4 −5

3 5 2

⎤
⎥
⎦

https://dl.doubtnut.com/l/_pjX9VhQ5B7ae
https://dl.doubtnut.com/l/_k3R1jdDZDAJ7


233. The inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

1 0 0

3 3 0

5 2 −1

⎤
⎥
⎦

⎡
⎢
⎣

−3 0 0

3 1 0

9 2 −3

⎤
⎥
⎦

−1

3

⎡
⎢
⎣

−3 0 0

3 −1 0

−9 −2 3

⎤
⎥
⎦

−1

3

⎡
⎢
⎣

3 0 0

3 −1 0

−9 −2 3

⎤
⎥
⎦

−1

3

⎡
⎢
⎣

−3 0 0

−3 −1 0

−9 −2 3

⎤
⎥
⎦

−1

3

234. If , then 

A. 

A =
⎡
⎢
⎣

1 0 0

a 1 0

b c 1

⎤
⎥
⎦

A− 1 =

⎡
⎢
⎣

1 0 1

−a 1 0

b − ac c 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_Qmi46ejnFwhD
https://dl.doubtnut.com/l/_d3mhm287QaxK


B. 

C. 

D. 

Answer: D

Watch Video Solution

⎡
⎢
⎣

1 0 0

a 1 0

ac − b −c 1

⎤
⎥
⎦

⎡
⎢
⎣

1 0 0

−a 1 0

b − ac c 1

⎤
⎥
⎦

⎡
⎢
⎣

1 0 0

−a 1 0

ac − b −c 1

⎤
⎥
⎦

235. The inverse of the matrix  is

A. 

B. 

C. 

D. 

⎡
⎢
⎣

1 2 3

0 2 4

0 0 5

⎤
⎥
⎦

⎡
⎢
⎣

5 −5 1

0 5 −4

0 0 2

⎤
⎥
⎦

1

5

⎡
⎢
⎣

5 −5 1

0 5 −4

0 0 2

⎤
⎥
⎦

−1

5

⎡
⎢
⎣

10 −10 2

0 5 −4

0 0 2

⎤
⎥
⎦

1

10

⎡
⎢
⎣

10 −10 2

0 5 −4

0 0 2

⎤
⎥
⎦

−1

10

https://dl.doubtnut.com/l/_d3mhm287QaxK
https://dl.doubtnut.com/l/_GGQLUr0sX3T5


Answer: C

Watch Video Solution

236. The inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

1 2 3

1 1 5

2 4 7

⎤
⎥
⎦

⎡
⎢
⎣

−13 −2 7

3 −1 −2

2 0 −1

⎤
⎥
⎦

⎡
⎢
⎣

13 2 −7

−3 −1 2

−2 0 1

⎤
⎥
⎦

⎡
⎢
⎣

13 2 −7

−3 −1 2

−2 0 −1

⎤
⎥
⎦

⎡
⎢
⎣

13 2 −7

−3 −1 2

−2 −2 2

⎤
⎥
⎦

https://dl.doubtnut.com/l/_GGQLUr0sX3T5
https://dl.doubtnut.com/l/_FHYE9ZLuFyR0


237. The inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

⎡
⎢
⎣

1 0 1

0 2 3

1 2 1

⎤
⎥
⎦

⎡
⎢
⎣

−4 2 −2

3 0 −3

−2 −2 2

⎤
⎥
⎦

−1

6

⎡
⎢
⎣

−4 2 −2

3 0 −3

−2 −2 2

⎤
⎥
⎦

1

6

⎡
⎢
⎣

−2 1 −1

1 0 −1

−2 −2 2

⎤
⎥
⎦

⎡
⎢
⎣

2 −1 1

−1 0 1

2 2 −2

⎤
⎥
⎦

238. The inverse of the matrix  is

A. 

⎡
⎢
⎣

2 −1 1

−1 2 −1

1 −1 2

⎤
⎥
⎦

⎡
⎢
⎣

3 1 −1

1 3 1

−1 1 3

⎤
⎥
⎦

−1

2

https://dl.doubtnut.com/l/_v72n7MDBep42
https://dl.doubtnut.com/l/_fGiPK2XJe8VJ


B. 

C. 

D. 

Answer: D

Watch Video Solution

⎡
⎢
⎣

3 1 −1

1 3 1

−1 1 3

⎤
⎥
⎦

1

2

⎡
⎢
⎣

3 1 −1

1 3 1

−1 1 3

⎤
⎥
⎦

−1

4

⎡
⎢
⎣

3 1 −1

1 3 1

−1 1 3

⎤
⎥
⎦

1

4

239. The inverse of the matrix  is

A. 

B. 

C. 

D. 

⎡
⎢
⎣

0 1 2

1 2 3

3 1 1

⎤
⎥
⎦

⎡
⎢
⎣

−1 1 −1

8 −6 2

−5 3 −1

⎤
⎥
⎦

−1

2

⎡
⎢
⎣

−1 1 −1

8 −6 1

−5 3 −1

⎤
⎥
⎦

1

2

⎡
⎢
⎣

−1 1 −1

4 −3 1

−5 3 −1

⎤
⎥
⎦

⎡
⎢
⎣

1 −1 1

−4 3 −1

4 −3 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_fGiPK2XJe8VJ
https://dl.doubtnut.com/l/_RsFXvZ9jZYtj


Answer: A

Watch Video Solution

240. The inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⎡
⎢
⎣

2 0 −1

5 1 0

0 1 3

⎤
⎥
⎦

⎡
⎢
⎣

3 −1 1

5 −2 2

−15 6 −5

⎤
⎥
⎦

⎡
⎢
⎣

−3 1 −1

−5 2 −2

15 −6 3

⎤
⎥
⎦

⎡
⎢
⎣

3 −1 1

−15 6 −5

5 −2 2

⎤
⎥
⎦

⎡
⎢
⎣

−3 1 −1

15 −6 5

−5 2 −2

⎤
⎥
⎦

https://dl.doubtnut.com/l/_RsFXvZ9jZYtj
https://dl.doubtnut.com/l/_7vmxP6GfrUQp


241. The inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

2 −3 3

2 2 3

3 −2 2

⎤
⎥
⎦

⎡
⎢
⎣

−2 0 3

−1 1 0

2 1 −2

⎤
⎥
⎦

−1

5

⎡
⎢
⎣

−2 0 3

−1 1 0

2 1 −2

⎤
⎥
⎦

1

5

⎡
⎢
⎣

2 0 −3

1 −1 0

−2 −1 2

⎤
⎥
⎦

⎡
⎢
⎣

−2 0 3

−1 1 0

2 1 −2

⎤
⎥
⎦

242. The inverse of the matrix  is

A. 

⎡
⎢
⎣

1 2 −2

−3 0 −5

2 5 0

⎤
⎥
⎦

⎡
⎢
⎣

5 10 −15

−2 4 11

−3 1 9

⎤
⎥
⎦

1

5

https://dl.doubtnut.com/l/_6SSBcjcw70vF
https://dl.doubtnut.com/l/_6l5G5nIA2gXB


B. 

C. 

D. 

Answer: D

Watch Video Solution

⎡
⎢
⎣

1 2 −3

−2 4 11

−3 1 9

⎤
⎥
⎦

⎡
⎢
⎣

−25 −10 −15

10 4 11

−15 1 6

⎤
⎥
⎦

−1

35

⎡
⎢
⎣

25 −10 −15

−10 4 11

−15 1 6

⎤
⎥
⎦

1

35

243. The inverse of the matrix  is

A. 

B. 

C. 

D. 

⎡
⎢
⎣

1 2 −2

0 −2 1

−1 3 0

⎤
⎥
⎦

⎡
⎢
⎣

3 6 2

1 2 1

2 5 2

⎤
⎥
⎦

⎡
⎢
⎣

3 6 2

10 2 1

2 5 2

⎤
⎥
⎦

−
⎡
⎢
⎣

3 6 2

2 5 2

1 2 1

⎤
⎥
⎦

⎡
⎢
⎣

2 5 2

3 6 2

1 2 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_6l5G5nIA2gXB
https://dl.doubtnut.com/l/_71nDvUu7PpVa


Answer: A

Watch Video Solution

244. The inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

⎡
⎢
⎣

3 2 6

1 1 2

2 2 5

⎤
⎥
⎦

⎡
⎢
⎣

−2 −1 2

−3 1 0

2 0 −1

⎤
⎥
⎦

⎡
⎢
⎣

−2 1 −2

−3 −1 0

−2 0 1

⎤
⎥
⎦

⎡
⎢
⎣

−1 −2 2

1 −3 0

0 2 −1

⎤
⎥
⎦

⎡
⎢
⎣

1 2 −2

−1 3 0

0 −2 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_71nDvUu7PpVa
https://dl.doubtnut.com/l/_zhjDEZx3WZqj


245. The inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⎡
⎢
⎣

1 2 3

−1 1 2

1 2 4

⎤
⎥
⎦

⎡
⎢
⎣

0 −2 1

2 1 5

−1 0 −3

⎤
⎥
⎦

⎡
⎢
⎣

0 −2 1

6 1 −5

−1 0 1

⎤
⎥
⎦

⎡
⎢
⎣

0 −2 1

6 1 −5

−3 0 3

⎤
⎥
⎦

1

3

⎡
⎢
⎣

0 −2 1

6 1 −5

−3 0 3

⎤
⎥
⎦

−1

3

246. The inverse of the matrix  is

A. 

⎡
⎢
⎣

cos θ −sin θ 0

sin θ cos θ 0

0 0 1

⎤
⎥
⎦

−
⎡
⎢
⎣

cos θ sin θ 0

−sin θ cos θ 0

0 0 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_lQUB6OEhpoaO
https://dl.doubtnut.com/l/_s5hPBi8O3aAu


B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

cos θ sin θ 0

−sin θ cos θ 0

0 0 1

⎤
⎥
⎦

−
⎡
⎢
⎣

cos θ −sin θ 0

sin θ cos θ 0

0 0 1

⎤
⎥
⎦

⎡
⎢
⎣

cos θ −sin θ 0

sin θ cos θ 0

0 0 1

⎤
⎥
⎦

247. If , where , then 

A. 

B. 

C. 

D. 

Answer: B

F (α) =
⎡
⎢
⎣

cosα −sinα 0

sinα cosα 0

0 0 1

⎤
⎥
⎦

α ∈ R (F (α))
− 1

=

F(α− 1)

F ( − α)

F (2α)

−F ( − α)

https://dl.doubtnut.com/l/_s5hPBi8O3aAu
https://dl.doubtnut.com/l/_lz5tKhp819DY


Watch Video Solution

248. Then inverse of the matrix  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⎡
⎢
⎣

1 0 0

0 cos θ sin θ

0 sin θ −cos θ

⎤
⎥
⎦

⎡
⎢
⎣

−1 0 0

0 −cos θ −sin θ

0 −sin θ cos θ

⎤
⎥
⎦

⎡
⎢
⎣

cos θ sin θ 0

−sin θ cos θ 0

0 0 1

⎤
⎥
⎦

⎡
⎢
⎣

1 0 0

0 cos θ sin θ

0 sin θ −cos θ

⎤
⎥
⎦

⎡
⎢
⎣

1 0 0

0 −cos θ −sin θ

1 sin θ cos θ

⎤
⎥
⎦

249. If , then A =
⎡
⎢
⎣

secθ tan θ 0

tan θ secθ 0

0 0 1

⎤
⎥
⎦

A− 1 =

https://dl.doubtnut.com/l/_lz5tKhp819DY
https://dl.doubtnut.com/l/_9xkC8arjfP6B
https://dl.doubtnut.com/l/_8fJmi0NxtDlJ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

secθ −tan θ 0

tan θ −secθ 0

0 0 1

⎤
⎥
⎦

⎡
⎢
⎣

secθ −tan θ 0

−tan θ secθ 0

0 0 1

⎤
⎥
⎦

⎡
⎢
⎣

−secθ −tan θ 0

tan θ secθ 0

0 0 1

⎤
⎥
⎦

⎡
⎢
⎣

secθ tan θ 0

tan θ secθ 0

0 0 1

⎤
⎥
⎦

250. , then

A. A and B are inverse of each other

B. A and B are equal matrices

C. 

D. 

A =
⎡
⎢
⎣

3 2 6

1 1 2

2 2 5

⎤
⎥
⎦

, B =
⎡
⎢
⎣

1 2 −2

−1 3 0

0 −2 1

⎤
⎥
⎦

A2 = B

B2 = A

https://dl.doubtnut.com/l/_8fJmi0NxtDlJ
https://dl.doubtnut.com/l/_AtTktjy8N5V1


Answer: A

Watch Video Solution

251. If , where 

 and I is an identity matrix of order 3, then (c, d)=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A =
⎡
⎢
⎣

1 0 0

0 1 1

0 −2 4

⎤
⎥
⎦

and A− 1 = (A2 + cA + dI)
1

6

c, d ∈ R

( − 6, − 11)

( − 6, 11)

(6, − 11)

(6, 11)

252. If A =
⎡
⎢
⎣

2 2 1

1 3 1

1 2 2

⎤
⎥
⎦

, and A− 1 + (A − 5I)(A − I)
2

=

https://dl.doubtnut.com/l/_AtTktjy8N5V1
https://dl.doubtnut.com/l/_vP7sdJgySqPD
https://dl.doubtnut.com/l/_77dT3ibYNAgP


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⎡
⎢
⎣

4 −2 −1

−1 3 −1

−1 −2 4

⎤
⎥
⎦

⎡
⎢
⎣

4 −2 −1

−1 3 −1

−1 −2 4

⎤
⎥
⎦

⎡
⎢
⎣

4 −2 −1

−1 3 −1

−1 −2 4

⎤
⎥
⎦

1

5

⎡
⎢
⎣

4 −2 −1

−1 3 −1

−1 −2 4

⎤
⎥
⎦

−1

5

253. If  exist and not equal to 0, then 

A. 

B. 

A =
⎡
⎢
⎣

1 2 2

2 1 2

2 2 1

⎤
⎥
⎦

and A− 1

(A2 − 4A)A− 1 =

⎡
⎢
⎣

−3 2 2

2 −3 2

2 2 −3

⎤
⎥
⎦

⎡
⎢
⎣

3 2 2

2 3 2

2 2 3

⎤
⎥
⎦

https://dl.doubtnut.com/l/_77dT3ibYNAgP
https://dl.doubtnut.com/l/_bOiZUgPufRtZ


C. 

D. 

Answer: A

Watch Video Solution

⎡
⎢
⎣

5 2 0

2 5 0

0 2 5

⎤
⎥
⎦

⎡
⎢
⎣

5 2 5

2 5 5

5 5 2

⎤
⎥
⎦

254. If for , then

X=

A. 

B. 

C. 

D. 

AX = B, B =
⎡
⎢
⎣

9

52

0

⎤
⎥
⎦

and A− 1 =

⎡
⎢
⎢
⎢
⎣

3 − −

−4

2 − −

⎤
⎥
⎥
⎥
⎦

1

2

1

2

3

4

5

4

1
4

3

4

⎡
⎢
⎣

1

3

5

⎤
⎥
⎦

⎡
⎢⎢
⎣

−

2

⎤
⎥
⎥
⎦

1

2

1

2

⎡
⎢
⎣

−4

2

3

⎤
⎥
⎦

⎡
⎢⎢
⎣

3

−

⎤
⎥
⎥
⎦

3

4

3

4

https://dl.doubtnut.com/l/_bOiZUgPufRtZ
https://dl.doubtnut.com/l/_kWXsS5sOhrvq


Answer: A

Watch Video Solution

255. If , then X=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A =
⎡
⎢
⎣

1 2 3

−1 1 2

1 2 4

⎤
⎥
⎦

, B =
⎡
⎢
⎣

1

2

3

⎤
⎥
⎦

and AX = B

⎡
⎢
⎣

1

7

−6

⎤
⎥
⎦

1

3

⎡
⎢
⎣

−1

−7

6

⎤
⎥
⎦

1

3

⎡
⎢
⎣

1

7

−2

⎤
⎥
⎦

⎡
⎢
⎣

−1

−7

2

⎤
⎥
⎦

https://dl.doubtnut.com/l/_kWXsS5sOhrvq
https://dl.doubtnut.com/l/_YzHkdNdkj2WH


256. If , then X=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A =
⎡
⎢
⎣

1 0 1

0 2 3

1 2 1

⎤
⎥
⎦

, b =
⎡
⎢
⎣

1 2 3

1 1 5

2 4 7

⎤
⎥
⎦

and XA = B

⎡
⎢
⎣

4 4 2

11 8 −5

10 10 2

⎤
⎥
⎦

1

3

⎡
⎢
⎣

4 4 2

11 8 −5

10 10 2

⎤
⎥
⎦

1

2

⎡
⎢
⎣

4 4 2

11 8 −5

10 10 2

⎤
⎥
⎦

1

6

⎡
⎢
⎣

2 2 1

11 8 −5

10 10 5

⎤
⎥
⎦

1

3

257. If , then

A.  not exist

B.  is null matrix

A = [
−2 0 0

−2 −1 3
], B =

⎡
⎢
⎣

0 1

2 3

1 −1

⎤
⎥
⎦

(AB) − 1

(AB) − 1

https://dl.doubtnut.com/l/_7TDIZeszvo2M
https://dl.doubtnut.com/l/_2oCEW8FODUbp


C.  exist

D.  unit matrix

Answer: C

Watch Video Solution

(AB) − 1

(AB) − 1

258. If , then

A.  exist

B.  not exist

C.  exist

D. 

Answer: A

Watch Video Solution

A = [
1 2 3

1 −2 −3
], B =

⎡
⎢
⎣

1 −1

1 2

1 −1

⎤
⎥
⎦

(AB) − 1

(AB) − 1

(BA) − 1

(AB) − 1 = (BA) − 1

https://dl.doubtnut.com/l/_2oCEW8FODUbp
https://dl.doubtnut.com/l/_2WEOkYHlALfE
https://dl.doubtnut.com/l/_wX2uaLAWgZeJ


259. If , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A = [
2 2

−3 2
] and B = [

0 −1

1 0
] (B− 1A− 1)

− 1
=

[
2 −2

2 3
]

[
2 2

−2 3
]

[
2 −3

2 2
]

[
1 −1

−2 3
]

260. If , then 

A. 

B. 

C. 

D. 

A = [
2 2

−3 2
] and B = [

0 −1

1 0
] (B− 1A− 1)

− 1
=

[
3 −2

2 2
]

[
2 −2

2 3
]

[
3 2

−2 2
]

1

18

[
3 1

2 3
]

https://dl.doubtnut.com/l/_wX2uaLAWgZeJ
https://dl.doubtnut.com/l/_epRXVblrl70U


Answer: A

Watch Video Solution

261. If , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = [
4 1

2 3
] and B = [

2 1

0 −2
] (AB)

− 1
=

[
−

]

1

10

1

20

1

5

1

5

[
−

−
]

1

10

1

20

1

5

1

5

[
−

]

1

10

1

20

1

10

1

5

[
1 0

0 1
]

262. If  then 

A. 

A = [
2 3

1 2
], B = [

3 1

0 3
] B− 1A− 1 =

[
1 −2

−5 9
]

https://dl.doubtnut.com/l/_epRXVblrl70U
https://dl.doubtnut.com/l/_trPFaezNIpmt
https://dl.doubtnut.com/l/_zNjDLe35O1rk


B. 

C. 

D. 

Answer: C

Watch Video Solution

[
−1 3

5 −9
]

[
−1 2

5 −9
]

[
−1 2

5 4
]

263. If  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = [
2 3

7 11
], B = [

1 0

3 1
] (AB)

− 1
=

[
2 3

7 11
]

−[
2 5

7 11
]

[
11 −3

−40 11
]

−[
2 −3

−7 1
]

https://dl.doubtnut.com/l/_zNjDLe35O1rk
https://dl.doubtnut.com/l/_mk1DpaoiQIyZ
https://dl.doubtnut.com/l/_dBQCs00ZK4f0


264. If

is equal to (A)  (B)  (C) 

 (D) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

F (α) =
⎡
⎢
⎣

cosα −sinα 0

sinα cosα 0

0 0 1

⎤
⎥
⎦

and G(β) =
⎡
⎢
⎣

cos β 0 sinβ

0 1 0

−sinβ 0 cos β

⎤
⎥
⎦

, then[F (α

F ( − α)G( − β) G( − β)F ( − α0

F(α− 1)G(β − 1) G(β − 1)F(α− 1)

F (α) − G(β)

−F (α) − G(β)

(F (α)) − 1(G(β)) − 1

(G(β)) − 1(F (α)) − 1

265. Let . If  and  are column matrices such that 

 and , then  is equal to :

A =
⎛
⎜
⎝

1 0 0

2 1 0

3 2 1

⎞
⎟
⎠

u1 u2

Au1 =
⎛
⎜
⎝

1

0

0

⎞
⎟
⎠

Au2 =
⎛
⎜
⎝

0

1

0

⎞
⎟
⎠

u1 + u2

https://dl.doubtnut.com/l/_dBQCs00ZK4f0
https://dl.doubtnut.com/l/_uJmsEEDk4M16


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

−1

1

0

⎤
⎥
⎦

⎡
⎢
⎣

1

−1

−1

⎤
⎥
⎦

⎡
⎢
⎣

−1

−1

0

⎤
⎥
⎦

⎡
⎢
⎣

−1

1

−1

⎤
⎥
⎦

266. Equations  will have

A. no solution

B. only one solution

C. many finite solution

D. trivival solution

x + y = 2, 2x + 2y = 3

https://dl.doubtnut.com/l/_uJmsEEDk4M16
https://dl.doubtnut.com/l/_iGWFPz2XW47Q


Answer: A

Watch Video Solution

267. If  then the values of  and z are

respectively

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⎡
⎢
⎣

x − y − z

−y + z

z

⎤
⎥
⎦

=
⎡
⎢
⎣

0

5

3

⎤
⎥
⎦

x, y

0, − 3, 3

1, − 2, 3

5, 2, 2

11, 8, 3

268. If , then 
⎡
⎢
⎣

1 1 1

1 −2 −2

1 3 1

⎤
⎥
⎦

⎡
⎢
⎣

x

y

z

⎤
⎥
⎦

=
⎡
⎢
⎣

0

3

4

⎤
⎥
⎦

⎡
⎢
⎣

x

y

z

⎤
⎥
⎦

=

https://dl.doubtnut.com/l/_iGWFPz2XW47Q
https://dl.doubtnut.com/l/_gM4gHfZuYnZj
https://dl.doubtnut.com/l/_vQQsiJTRbwXg


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

⎡
⎢
⎣

1

1

1

⎤
⎥
⎦

⎡
⎢
⎣

1

−2

1

⎤
⎥
⎦

⎡
⎢
⎣

1

−2

3

⎤
⎥
⎦

⎡
⎢
⎣

1

2

−3

⎤
⎥
⎦

269. If 

then X=

A. 

B. 

A =
⎡
⎢
⎣

1 −1 −2

2 1 1

4 −1 2

⎤
⎥
⎦

, B =
⎡
⎢
⎣

3

5

11

⎤
⎥
⎦

, X =
⎡
⎢
⎣

x

y

z

⎤
⎥
⎦

and AX = B

⎡
⎢⎢⎢
⎣ 0

⎤
⎥
⎥
⎥
⎦

8

3

− 1

3

⎡
⎢⎢
⎣ 0

⎤
⎥
⎥
⎦

8

3

1

3

https://dl.doubtnut.com/l/_vQQsiJTRbwXg
https://dl.doubtnut.com/l/_2QXrq9MYtexd


C. 

D. 

Answer: A

Watch Video Solution

⎡
⎢⎢⎢
⎣ 0

⎤
⎥
⎥
⎥
⎦

− 8

3

1

3

⎡
⎢⎢⎢
⎣ 0

⎤
⎥
⎥
⎥
⎦

− 8

3

− 1

3

270. If , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

⎡
⎢
⎣

x

y

z

⎤
⎥
⎦

=
⎡
⎢
⎣

5 10 −5

−5 −2 13

10 −4 6

⎤
⎥
⎦

⎡
⎢
⎣

5

0

5

⎤
⎥
⎦

1

40
x + y + z =

3

0

2

1

https://dl.doubtnut.com/l/_2QXrq9MYtexd
https://dl.doubtnut.com/l/_i8aDQqOx2psU


271. The values of x, y, z for the equations

 are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y + z = 1, 2x + 3y + 2z = 2, ax + ay + 2az = 4

x = 2 − , y = 0, z = − 1
4

a

4

a

x = 2 + , y = 0, z = − 1
4

a

4

a

x = 2 − , y = 0, z = + 1
4

a

4

a

x = 2 + , y = 0, z = + 1
4

a

4

a

272. The values of x, y, z for the equations

 are

A. 

B. 

5x − y + 4z = 5, 2x + 3y + 5z = 2, 5x − 2y + 6z = 1

x = 3, y = 3, z = − 2

x = 1, y = 2, z = 1

https://dl.doubtnut.com/l/_i8aDQqOx2psU
https://dl.doubtnut.com/l/_kTq4fdGlWcQb
https://dl.doubtnut.com/l/_5Ulm6hXw6sRt


C. 

D. 

Answer: A

Watch Video Solution

x = 1, y = 3, z = 5

x = 3, y = 2, z = − 1

273. The values of x, y, z for the equations

 are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x − y + z = 1, 2x − y = 1, 3x + 3y − 4z = 2

x = 2, y = 3, z = 5

x = 1, y = 1, z = 1

x = 1, y = − 1, z = − 1

x = 3, y = 1, z = 2

https://dl.doubtnut.com/l/_5Ulm6hXw6sRt
https://dl.doubtnut.com/l/_fQgzXAKG16Ku
https://dl.doubtnut.com/l/_MSH5NrhcCSoD


274. The values of x, y, z for the equations

 are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y + z = 6, 3x − y + 2z = 7, 5x + 5y − 4z = 3

x = 3, y = 2, z = 5

x = 1, y = 4, z = − 2

x = 2, y = 7, z = 8

x = 1, y = 2, z = 3

275. Solve the following equations by the method of reduction 

A. 

B. 

C. 

2x − y + z = 1, x + 2y + 3x = 8, 3x + y − 4z = 1.

x = 0, y = 5, z = 2

x = 3, y = 1, z = − 2

x = 1, y = 2, z = 1

https://dl.doubtnut.com/l/_MSH5NrhcCSoD
https://dl.doubtnut.com/l/_ttzgkZiENa8f


D. 

Answer: C

Watch Video Solution

x = 2, y = − 1, z = 5

276. If the inverse of the matriix  does not exist, then the

vlaue of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

⎡
⎢
⎣

α 14 −1

2 3 1

6 2 3

⎤
⎥
⎦

α

1

−1

0

−2

https://dl.doubtnut.com/l/_ttzgkZiENa8f
https://dl.doubtnut.com/l/_xDRCS8erxJk3


277. if  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = [
2 −3

−4 1
] (3A2 + 12A) = ?

[
72 −63

−84 52
]

[
72 −84

−63 51
]

[
51 63

84 72
]

[
51 84

63 72
]

https://dl.doubtnut.com/l/_TnhVk2XcLQAr

